
 

 
��$�,�,��������%,�� ��%,�� $��� 

�$����''&,���� $����' ���&��%,��� ����%&� 
(%>D>> ?9OF4 E5EVO 6>EL<>7> E>?<>4==O) 

 
$�,���/ 

 
21 FD46=O 2024                    <. �>DVL=V �?46=V 
 
�D> 6=5E5==O 7<V= 4>  
V=65EF<FV==>W ?D>7D4<< >><G=4?L=>7>  
6<D>5=<G>7> ?V4?D<T<EF64 «&5??>5=5D7>»  
<. �>DVL=V �?46=V» =4 2020 3 2027 D>>< 

 
�4 6<>>=4==O 6?4E=<E ?>6=>6465=L, 747=4G5=<E G EF. 26 �4>>=G 

'>D4W=< «�D> <VEF565 E4<>6DO4G64==O 6 '>D4W=V», 6V4?>6V4=> 4> �>DO4>G 
D>7D>5?5==O, ?>7>465==O F4 74F65D465==O V=65EF<FV==<E ?D>7D4< EG59T>FV6 
7>E?>44DN64==O G ED5DV F5??>?>EF4G4==O, ?VF5=7G64==O 4VO?L=>EFV O><E 
74V=E=NNFL $444 <V=VEFDV6 �6F>=><=>W $5E?G5?V>< �D<<, >5?4E=V, �<W6EL>4 
F4 %564EF>?>?LEL>4 <VEL>V 45D646=V 44<V=VEFD4FVW, 74F65D465=>7> =4>47>< 
�V=VEF5DEF64 D>76<F>G 7D><44 F4 F5D<F>DV= '>D4W=< 6V4 19.08.2020 7 191, =4 
?V4EF46V 765D=5==O >><G=4?L=>7> 6<D>5=<G>7> ?V4?D<T<EF64 «&5??>5=5D7>» 
<. �>DVL=V �?46=V» 6V4 17.04.2024 7 908, 6D4E>6GNG< ?D>?>7<FVW ?>EFV==>W 
>><VEVW 7 ?<F4=L ?D><<E?>6>EFV, 6<F?>6>->><G=4?L=>7> 7>E?>44DEF64, 
FD4=E?>DFG, 76¾O7>G F4 5>>?>7VW (?D>F>>>? 7 38 6V4 15.05.2024) 
�>DVL=L>??46=V6EL>4 <VEL>4 D444 �D5<5=GGFL>>7> D4=>=G �>?F46EL>>W 
>5?4EFV 

��$�,���: 
1. �=5EF< 7<V=< 4> �=65EF<FV==>W ?D>7D4<< ?V46<M5==O 

5=5D7>5D5>F<6=>EFV E<EF5<< F5=FD4?V7>64=>7> F5??>?>EF4G4==O <VEF4 
�>DVL=V �?46=V =4 2020 3 2027 D>>< >><G=4?L=>7> 6<D>5=<G>7> ?V4?D<T<EF64 
«&5??>5=5D7>» <. �>DVL=V �?46=V», 4 E4<5: 

1.1. � �=D>D<4FV==V= >4DFFV: 
- 6 D>74V?V 2 «�474?L=4 V=D>D<4FVO ?D> V=65EF<FV==G ?D>7D4<G» 

6<>?NG<F< FD5FV= F4 G5F65DF<= 5F4?< D54?V74FVW V=65EF<FV==>W 
?D>7D4<<; 

- 6 D>74V?V 3 «�V4><>EFV ?D> V=65EF<FVW 74 V=65EF<FV==>N  ?D>7D4<>N» 
EG<<   >5EO7V6  V=65EF<FV= 6<>?4EF< 6 =>6V= D544>FVW; 

- E?>64 F4 F<DD< «>GDE ��' =4 18.10.2019» 74<V=<F< E?>64<< F4 
F<DD4<< «>GDE ��' =4 01.04.2024 3 42,1601 7D=». 

1.2. � �>OE=N64?L=V= 74?<EFV: 
-   ?V4D>74V? «�DG7<= 5F4? «�V>?4?<6=V >>F?<» D>74V?G 4 «�>45D=V74FVO    
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    >>F5?L=V ?> ?D>6. �=5D75F<>V6, 31» 4>?>6=<F< =>6<<< 4574F4<<, 
F45?<FO<< F4 7>5D465==O<<; 

- 6<>?NG<F< ?V4D>74V?< «&D5FV= 5F4? «�4<V=4 <47VEFD4?L=>7> 
FDG5>?D>6>4G» F4 «'5F65DF<= 5F4? «%<EF5<4 6V44V?5=>7> >5DG64==O 
F4 <>=VF>D<=7G (SKADA)» D>74V?G 4 «�>45D=V74FVO >>F5?L=V ?> ?D>6. 
�=5D75F<>V6,31»; 

- 4>?>6=<F< �>OE=N64?L=G 74?<E>G D>74V?>< 6 «�=4?V7 6??<6G 
D54?V74FVW V=65EF<FV==>W ?D>7D4<< =4 EFDG>FGDG F4D<DV6». 

1.3. �6464F< 4>44F>< 4, 5, 6, 7, 8 4>44F>4<< 3, 4, 5, 6, 7 6V4?>6V4=>. 
1.4. �>44F>< 3, 4, 5 6<>?4EF< 6 =>6V= D544>FVW. 
2. �>7>4<F< =>6G D544>FVN �=65EF<FV==>W ?D>7D4<< ?V46<M5==O 

5=5D7>5D5>F<6=>EFV E<EF5<< F5=FD4?V7>64=>7> F5??>?>EF4G4==O <VEF4 
�>DVL=V �?46=V =4 2020 3 2027 D>>< >><G=4?L=>7> 6<D>5=<G>7> ?V4?D<T<EF64 
«&5??>5=5D7>» <. �>DVL=V �?46=V»  (4>44TFLEO). 

3. �<D5>F>DG ��� «&�» <. �>DVL=V �?46=V» %=V6>G �.�. 74557?5G<F< 
D54?V74FVN 74E>4V6 77V4=> 7 DV=4=E>6<< ??4=>< 6<>>D<EF4==O >>LFV6 4?O 
6<>>=4==O V=65EF<FV==>W ?D>7D4<< =4 2020 3 2027 D>>< 7 GD4EG64==O< 7<V=. 

4. �>=FD>?L 74 6<>>=4==O< 44=>7> DVL5==O ?>>?4EF< =4 ?>EFV==G 
>><VEVN 7 ?<F4=L ?D><<E?>6>EFV, 6<F?>6>->><G=4?L=>7> 7>E?>44DEF64, 
FD4=E?>DFG, 76¾O7>G F4 5>>?>7VW. 
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?V46<M5==O 5=5D7>5D5>F<6=>EFV E<EF5<< 
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��$�$��&���� ��$&��  
?VF5=7V4F4 4> 4>67>EFD>>>6>W V=65EF<FV==>W ?D>7D4<<  

=4  2020-2027  D.D. 

(EFD>>) 

��� «&�» <. �>DVL=V �?46=V» 
(=4=<5=G64==O ?VF5=7V4F4) 

 

1. �474?L=4 V=D>D<4FVO ?D> ?VF5=7V4F4 

�4=<5=G64==O ?VF5=7V4F4 �><G=4?L=5 6<D>5=<G5 ?V4?D<T<EF6> 
«&5??>5=5D7>» <. �>DVL=V �?46=V» 

$V> 74E=G64==O 1966/2001 

$>D<4 6?4E=>EFV �><G=4?L=4 

�VEF5 7=4E>465==O 39800, 6G?. �>?>4V6=4 8, <. �>DVL=V �?46=V, 
�>?F46EL>4 >5?., '>D4W=4  

�>4 74 ��$��' 13940851 

�DV76<M5, V<9O, ?> 54FL>>6V ?>E44>6>W >E>5< 
?VF5=7V4F4, ?>E444 

%=V6=> �46?> �64=>6<G ,  4<D5>F>D  

&5?., D4>E, 5-mail F. 067 504 47 60                                                              
kte2013@ ukr.net                               

�VF5=7VO =4 6<D>5=<FF6> F5??>6>W 5=5D7VW 
(7, 44F4 6<44GV, EFD>> 4VW) 

$>7?>DO465==O �>?F46EL>>W ��� 7612 6V4 
22.09.2017D., 557EFD>>>64 

�VF5=7VO =4 FD4=E?>DFG64==O F5??>6>W 
5=5D7VW (7, 44F4 6<44GV, EFD>> 4VW) 

$>7?>DO465==O �>?F46EL>>W ��� 7612 6V4 
22.09.2017D., 557EFD>>>64 

�VF5=7VO =4 ?>EF4G4==O F5??>6>W 5=5D7VW  
(7, 44F4 6<44GV, EFD>> 4VW) 

$>7?>DO465==O �>?F46EL>>W ��� 7612 6V4 
22.09.2017D., 557EFD>>>64 

�VF5=7VO =4 6<D>5=<FF6> F5??>6>W 5=5D7VW =4 
F5??>5?5>FD>F5=FD4?OE, &�%, ��%, 
>>=75D4FV==<E GEF4=>6>4E 7 6<>>D<EF4==O< 
=5FD44<FV==<E 45> ?>=>6?N64?L=<E 465D5? 
5=5D7VW (7, 44F4 6<44GV, EFD>> 4VW) 

�>EF4=>64 ��$� �� 71825 6V4 13.10.2016D., 
557EFD>>>64 

%F4FGF=<= >4?VF4? ?VF5=7V4F4, F<E.7D= 81 938 099,94 

�4?4=E>64 64DFVEFL 4>F<6V6, F<E.7D= 93 138 000,00 

�<>DF<74FV==V 6V4D4EG64==O 74 >EF4==V= 
76VF=<= ?5DV>4, F<E.7D= 

3 333 333,00 

�45>D7>64=VEFL 7V E??4F< ?>44F>V6, 75>DV6 
(>5>69O7>>6<E ??4F56V6) 
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2. �474?L=4 V=D>D<4FVO ?D> V=65EF<FV==G ?D>7D4<G 

&V?V V=65EF<FV==>W ?D>7D4<< �V4=>6?5==O F4 <>45D=V74FVO E<EF5<< 
F5=FD4?V7>64=>7> F5??>?>EF4G4==O, 
7<5=L5==O E?>6<64==O ?D<D>4=>7> 747G F4 
6<><4V6 46>>><EG 6G7?5FN 

%FD>> D54?V74FVW V=65EF<FV==>W ?D>7D4<< 2020-2027D.D. 

�4 O>><G 5F4?V D54?V74FVW 74E>4V6, 
747=4G5=<E 6 V=65EF<FV==V= ?D>7D4<V, 
7=4E>4<FLEO ?VF5=7V4F 

�4O6=VEFL F5E=V>>-5>>=><VG=>7> 
>5�DG=FG64==O. �4O6=VEFL ?D>5>F=>-
>>LF>D<E=>W  4>>G<5=F4FVW. �4O6=VEFL 4VNG<E 
4>7>6>DV6 M>4> 465D5? DV=4=EG64==O. 
�D>6545==O ?5DL>7> 5F4?G D5>>=EFDG>FVW . 
�D>6545==O ?D>F54GD< 74>G?V6?V ?> 4DG7><G 
F4 FD5FL><G 5F4?G D5>>=EFDG>FVW . 

�>?>6=V 5F4?< D54?V74FVW V=65EF<FV==>W 
?D>7D4<< 

�5DL<= 5F4? «�47>6V >>F?< V 4>?><V6=5 
>5?44=4==O» - ?5D5454G4T GEF4=>6>G F4 
6>?NG5==O ?> =574?56=V= EE5<V 7 
6EF4=>6?5==O< 46>E F5??>>5<V==<>V6 , >4=>7> 
>>F?4 �OSCH UNIMAT 3 UT - HZ 32500 F4 
>5?44=4==O >>F?>6>W >569O7><, V7 
755D565==O< 6 D>5>G><G EF4=V VE=GNG<E 
>>F?V6 �&��-50 F4 V=L>7> VE=GNG>7> 
F5??><5E4=VG=>7> >5?44=4==O. &4>>6 <4T 
5GF< ?>EF46?5=5 F4 7<>=F>64=5 6E5 >E=>6=5 
F5E=>?>7VG=5 >5?44=4==O F4 FDG5>?D>6>4<, 
5?5<5=F< E<EF5< F5??> - 6>4> - F4 
5?5>FD>?>EF4G4==O. �4>G?V6?O F4 
6EF4=>6?5==O 46>E 4=4?>7VG=<E >>F?V6 7 
E<EF5<4<< 4<<>6V46545==O F4 EG?GF=V< 
>5?44=4==O< 7 ?V4>?NG5==O< WE ?> 
=574?56=V= EE5<V 7 6EF4=>6?5==O< M5 46>E 
F5??>>5<V==<>V6 4> 6=GFDVL=L> >>F5?L=>7> 
F<D>G?OFV==>7> >>=FGDG, 7<>=F>64=>7> 6 E>4V 
D54?V74FVW ?5DL>7> 5F4?G 5G4V6=<FF64. 

�DG7<= 5F4? «�V>?4?<6=V >>F?<» -  6>?NG4T 
?D>5>F=V D>5>F< F4 ?>EF4G4==O >5?44=4==O V 
<4F5DV4?V6, <>=F46, 6<?D>5G64==O, 
=4?47>46G64==O F4 66545==O 6 5>E??G4F4FVN 
46>E 5V>?4?<6=<E >>F?V6 ?>FG6=VEFN =5 
<5=L5 4 ��F >>65= 6 VE=GNGV= 7>?>6=V= 
>>F5?L=V ?> 6G?. �=5D75F<>V6, 31 6 <VEFV 
�>DVL=V �?46=V. �?4=GTFLEO ?D<454F< 464 
>>F?4, >E=>6=5 ?4?<6> 4?O O><E ?5?5F< 7 
?GL?<==O E>=OL=<>G 7 E?V?L=<<< 
46F><4F<G=<<< E<EF5<4<< ?>44GV ?4?<64, 46V 
E<EF5<< >G<M5==O 4<<>6<E 747V6, 46V 
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4<<>EV4=V E<EF5<<  >>F?>47D574FV6,  FD< 
F5??>>5<V==<>< ?>FG6=VEFN 50% 6V4 
?>FG6=>EFV 5V>?4?<6=>W >>F5?L=V >>65=, 
F<D>G?OFV==V =4E>E<, FDG5< V 4D<4FGDG F4 
?D>6545==O 7474?L=>5G4V65?L=<E D>5>VF 3 
6>?NG4NFL 45<>=F46=V D>5>F< V 
D5>>=EFDG>FVN ?D<<VM5==O 5V>?4?<6=>W 
>>F5?L=V. 

3. �V4><>EFV ?D> V=65EF<FVW 74 V=65EF<FV==>N ?D>7D4<>N 

 F<E. T6D> F<E. 7D=.* 

�474?L=<= >5EO7 V=65EF<FV=,  8936,40 376759,52 

6?4E=V >>LF< 190,98 8051,74 

?>7<G>>6V >>LF< 5000,00  210800,50 

74?GG5=V >>LF< 1707,90 72005,23 

5N465F=V >>LF< 2165,96 91317,09 

 �4?DO<>< 6<>>D<EF4==O V=65EF<FV= (G % 6V4 7474?L=>7> >5EO7G 
V=65EF<FV=): 

�4E>4< 7V 7=<65==O ?<F><<E 6<FD4F, 4 F4>>6 6FD4F 
D5EGDEV6 

 92,8% 

�4E>4< M>4> 74557?5G5==O F5E=>?>7VG=>7> F4/45> 
>><5DFV==>7> >5?V>G D5EGDEV6 

 - 

�4E>4< M>4> 6?D>64465==O F4 D>76<F>G V=D>D<4FV==<E 
F5E=>?>7V= 

 0,9% 

�4E>4< M>4> <>45D=V74FVW F4 74>G?V6?V FD4=E?>DF=<E 
74E>5V6 E?5FV4?L=>7> F4 E?5FV4?V7>64=>7> ?D<7=4G5==O 

 - 

�4E>4< M>4> ?V46<M5==O 5>>?>7VG=>W 557?5>< F4 
>E>D>=< =46>>?<L=L>7> E5D54>6<M4 

 6,3% 

�=LV 74E>4<  - 

4. �FV=>4 5>>=><VG=>W 5D5>F<6=>EFV V=65EF<FV==>W ?D>7D4<< 

'<EF4 ?D<6545=4 64DFVEFL, F<E.7D=.  

�=GFDVL=O =>D<4 4>EV4=>EFV  

�<E>>=F>64=<= ?5DV>4 >>G?=>EFV  

�=45>E ?D<5GF>>6>EFV  

 

�<D5>F>D ��� «&�» <. 
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�>DVL=V �?46=V»               ___________  
             (?V4?<E) 

           ___�46?> %�����.__  
(�?4E=5 V<'O �$����-�) 

*>GDE ��' =4 01.04.2024  - 

42,16017D=. 

 

  

 

 

 

 

 

 

�>44F>> 6  
 

'�����,���� %�$��&�$�%&���  
>59T>FV6 F5??>?>EF4G4==O 

��� «&�» <. �>DVL=V �?46=V» 

  

(=4=<5=G64==O ?VF5=7V4F4) 

EF4=>< =4 01.10.  2018 DV> 

7 
7/? 

�4=<5=G64==O F4 E4D4>F5D<EF<>4 >5'T>FV6 F5??>?>EF4G4==O �4<=<FO 
6<<VDG 

�>>47=<> 

7474?L=<= 7 =<E 464DV==V 

�. �<D>5=<FF6> F5??>6>W 5=5D7VW 

1 �65D5?4 F5??>6>W 5=5D7VW 

1.1 �474?L=4 >V?L>VEFL >>F5?5=L, 7 =<E: LF. 5 1 

 ?>FG6=VEFN 4> 3 �>4?/7>4 LF. 3 0 

 ?>FG6=VEFN 6V4 3 4> 20 �>4?/7>4 LF. 1 0 

 ?>FG6=VEFN 6V4 20 4> 100 �>4?/7>4 LF. 0 - 

 ?>FG6=VEFN 100 �>4?/7>4 V 5V?LL5 LF. 1 1 

 44E>6<E LF. 0 0 

1.2 �474?L=4 GEF4=>6?5=4 ?>FG6=VEFL >>F5?5=L, 7 =<E: �>4?/7>4 173,854 120 

 ?>FG6=VEFN 4> 3 �>4?/7>4 �>4?/7>4 3,954 0 

 ?>FG6=VEFN 6V4 3 4> 20 �>4?/7>4 �>4?/7>4 19,9 0 

 ?>FG6=VEFN 6V4 20 4> 100 �>4?/7>4 �>4?/7>4 0 - 

 ?>FG6=VEFN 100 �>4?/7>4 V 5V?LL5 �>4?/7>4 150 150 

 44E>6<E �>4?/7>4 0 - 

1.3 %5D54=T =464=F465==O >>F5?5=L:    
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 G =5>?4?N64?L=<= ?5DV>4 �>4?/7>4 4,3 - 

 G 7<<>6<= ?5DV>4 �>4?/7>4 29 - 

1.4 $VG=<= >5EO7 6V4?GE>G F5??>6>W 5=5D7VW �>4? 142626 - 

2 �>F?< F4 E6>EF>6V ?>65DE=V =47DV6G 

2.1 �474?L=4 >V?L>VEFL >>F?V6: LF. 14 0 

2.1.1 74 6<4>< F5??>=>EVO, 7 =<E: LF. 14 0 

 6>4>7DV==<E 7 ��� <5=L5 86% LF. 5 3 

 6>4>7DV==<E 7 ��� 5V?LL5 86% LF. 9 - 

 ?4D>6<E 7 ��� <5=L5 89% LF. 0 - 

 ?4D>6<E 7 ��� 5V?LL5 89% LF. 0 - 

2.1.2 74 6<4>< ?4?<64, 7 =<E: LF. 14 0 

 =4 747>?>4V5=><G ?4?<6V LF. 12 0 

 =4 F65D4><G ?4?<6V LF. 2 0 

 =4 DV4>><G ?4?<6V LF. 0 - 

2.2 �<>>D<EF4==O GEF4=>6?5=<E 6<D>5=<G<E ?>FG6=>EF5= >>F?V6:    

 G =5>?4?N64?L=<= ?5DV>4 % 8,5 - 

 G 7<<>6<= ?5DV>4 % 21 - 

2.3 �474?L=4 >V?L>VEFL 5>>=><4=75DV6 LF. 1 0 

3 �47>?>6VFDO=<= FD4>F, 4<<>6V FDG5<, >G<EF>4 4<<>6<E 747V6 

3.1 �474?L=4 >V?L>VEFL FO7>4GFFT6<E GEF4=>6>>, 7 =<E: LF. 11 0 

 4<<>E>EV6 LF. 6 0 

 4GFFT6<E 65=F<?OF>DV6 (GEF4=>6?5=<E >>D5<>) LF. 5 0 

3.2 �474?L=4 GEF4=>6?5=4 ?>FG6=VEFL FO7>4GFFT6<E GEF4=>6>> >�F 112,2 - 

3.3 �474?L=4 >V?L>VEFL 7>?>L?4>>G?>6?N64GV6 LF. 0 - 

3.4 �474?L=4 >V?L>VEFL 4<<>6<E FDG5, 7 =<E: LF. 9 1 

 EF4?56<E LF. 6 0 

 F57?O=<E F4/45> 74?V7>55F>==<E LF. 3 1 

4 �>?><V6=5 >5?44=4==O 

4.1 �474?L=4 >V?L>VEFL 4545D4F>D=<E GEF4=>6>> LF. 0 - 

4.2 �474?L=4 >V?L>VEFL 6>4>?V4V7DV64?L=<E GEF4=>6>> LF. 4 0 

4.3 �474?L=4 >V?L>VEFL 54>V6 75>DG >>=45=E4FG LF. 0 - 
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4.4 �474?L=4 >V?L>VEFL =4E>EV6, 7 =<E: LF. 37 0 

 6<6<?L=<E LF. 0 - 

 <5D56=<E LF. 11 0 

 ?V46<6?N64?L=<E LF. 12 0 

 >>=45=E4FV==<E LF. 0 - 

 D5F<D>G?OFV==<E LF. 1 0 

 =4E>EV6 74DOG>7> 6>4>?>EF4G4==O (���) LF. 0 - 

 F<D>G?OFV==<E (���) LF. 7 0 

4.5 �474?L=4 GEF4=>6?5=4 ?>FG6=VEFL =4E>EV6 >�F 3060  

5 �>4>?V47>F>6>4 V 6>4=>-EV<VG=<= D56<< 

5.1 �474?L=4 >V?L>VEFL 6>4>?V47>F>6G<E GEF4=>6>> LF. 4 0 

5.2 �474?L=4 >V?L>VEFL =4E>EV6 G E>?44V 6>4>?V47>F>6G<E GEF4=>6>> LF. 9 0 

5.3 �474?L=4 GEF4=>6?5=4 ?>FG6=VEFL =4E>EV6 >�F 15,37 0 

6 �?5>FD>?>EF4G4==O F4 5?5>FD>F5E=VG=V ?D<EFD>W 

6.1 �474?L=4 >V?L>VEFL ?VG<?L=<>V6 >5?V>G 5?5>FD<G=>W 5=5D7VW: LF. 6 0 

 ?DO<>7> 6>?NG5==O LF. 1 0 

 FD4=ED>D<4F>D=>7> 6>?NG5==O LF. 5 0 

6.2 �474?L=4 >V?L>VEFL F>G>> >5?V>G 5?5>FD<G=>W 5=5D7VW, >5'T4=4=<E G 
�'��� (�%���) 

LF. 
0 - 

6.3 �474?L=4 >V?L>VEFL FD4=ED>D<4F>D=<E ?V4EF4=FV= 10 (6)/0,4 >�: LF. 1 0 

 ?>FG6=VEFN 4> 630 >�� LF. 1 0 

 ?>FG6=VEFN ?>=44 630 >�� LF. 0 - 

6.4 �<>>D<EF4==O GEF4=>6?5=<E 6<D>5=<G<E ?>FG6=>EF5= 
5?5>FD>F5E=VG=>7> >5?44=4==O: 

 
  

 G =5>?4?N64?L=<= ?5DV>4 % 45 - 

 G 7<<>6<= ?5DV>4 % 90 - 

7 �6F><4F<74FVO 

7.1 �474?L=4 >V?L>VEFL 46F><4F<7>64=<E >>F5?5=L, G F><G G<E?V LF. 5 0 

 7 ?>6=>N 46F><4F<74FVTN (557 ?>EFV==>7> >5E?G7>6G64?L=>7> 
?5DE>=4?G) 

LF. 
2 0 

 7 G4EF>>6>N 46F><4F<74FVTN LF. 3 0 

7.2 �474?L=4 >V?L>VEFL E<EF5< 46F><4F<G=>7> D57G?N64==O 
?4D4<5FDV6 D>5>G>7> ?D>F5EG 

LF. 
6 0 
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8 �D<?44< >5?V>G F5??>6>W 5=5D7VW 

8.1 �474?L=4 >V?L>VEFL ?D<?44V6 >5?V>G F5??>6>W 5=5D7VW, 7 =<E: LF. 6 0 

 =4 465D5?4E F5??>?>EF4G4==O LF. 5 0 

 >><5DFV==>7> (G E?>6<64G4) LF. 1 0 

8.2 �4557?5G5=VEFL ?D<?444<< >5?V>G =4 465D5?4E F5??>?>EF4G4==O % 100 0 

8.3 �4557?5G5=VEFL ?D<?444<< >><5DFV==>7> >5?V>G % 1000  

8.4 �474?L=4 >V?L>VEFL ?D<?44V6 >5?V>G, M> =5>5EV4=> 6EF4=>6<F< 4> 
100% >E=4M5=>EFV, G F><G G<E?V: 

LF. 
0 - 

 =4 465D5?4E F5??>?>EF4G4==O LF. 0 - 

 >><5DFV==>7> >5?V>G LF. 0 - 

9 &D4=E?>DF=V 74E>5< 

9.1 �474?L=4 >V?L>VEFL E?5FV4?L=<E F4 E?5FV4?V7>64=<E FD4=E?>DF=<E 
74E>5V6, G F><G G<E?V: 

LF. 
2 0 

 E?5FF5E=V>< LF. 0 - 

 64=F46=<E 46F><>5V?V6 LF. 0 - 

 ?57>>6<E 46F><>5V?V6 LF. 2 1 

10 �G4V6?V F4 E?>DG4< 6<D>5=<G>7> ?D<7=4G5==O 

 �474?L=4 >V?L>VEFL LF. 41 3 

��. &D4=E?>DFG64==O F4 ?>EF4G4==O F5??>6>W 5=5D7VW 

11 �47VEFD4?L=V F5??>6V <5D56V 

11.1 �D>FO6=VEFL <47VEFD4?L=<E F5??>6<E <5D56, G F><G G<E?V: >< 7,884 0,13 

 ?V475<=<E >4=4?L=<E >< 6,35 0,13 

 ?V475<=<E 557>4=4?L=<E >< 1,534 0 

 =4475<=<E >< - - 

11.2 �474?L=4 >V?L>VEFL F5??>6<E >4<5D LF. 63 0 

12 �VEF56V (D>7?>4V?LGV) <5D56V 

12.1 �D>FO6=VEFL <VEF56<E (D>7?>4V?LG<E) F5??>6<E <5D56, G F><G 
G<E?V: 

>< 
32.151 0,323 

 ?V475<=<E >< 27,252 0,278 

 =4475<=<E >< 4,899 0,045 

12.2 �474?L=4 >V?L>VEFL F5??>6<E >4<5D LF. 251 - 

13 �5D56V 74DOG>7> 6>4>?>EF4G4==O (���) 

13.1 �D>FO6=VEFL <5D56 ���, 7 =<E: >< 13,968 0,36 
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 ?V475<=<E >< 12,951 0,36 

 =4475<=<E >< 1,017 - 

14 &5=FD4?L=V F5??>6V ?G=>F< (&&�) 

 �474?L=4 >V?L>VEFL &&� LF. 5 0 

15 �=4<6V4G4?L=V F5??>6V ?G=>F< (�&�) 

 �474?L=4 >V?L>VEFL �&� LF. 82 0 

16 �5?44=4==O &&� F4 �&� 

16.1 �474?L=4 >V?L>VEFL 6>4>?V4V7DV64?L=<E GEF4=>6>> LF. 8 0 

16.2 �474?L=4 >V?L>VEFL 54>V6-4>G<G?OF>DV6 74DOG>W 6>4< LF. 1 0 

16.3 �474?L=4 >V?L>VEFL =4E>EV6, 7 =<E: LF. 120 0 

 ?V46<6?N64?L=<E LF. 0 - 

 =4E>EV6 ��� LF. 12 0 

 F<D>G?OFV==<E (���) LF. 100 0 

16.4 �474?L=4 GEF4=>6?5=4 ?>FG6=VEFL =4E>EV6 >�F 1534,57 - 

17 �?5>FD>?>EF4G4==O F4 E<EF5<< G?D46?V==O 

17.1 �474?L=4 >V?L>VEFL ?VG<?L=<>V6 >5?V>G 5?5>FD<G=>W 5=5D7VW: LF. 17 0 

17.2 �474?L=4 >V?L>VEFL E<EF5< 46F><4F<74FVW F4 >>=FD>?N, G F><G 
G<E?V: 

LF. 
1 0 

 E<EF5< 46F><4F<G=>7> ?>7>4=>7> D57G?N64==O ?>44GV F5??>=>EVO LF. 0 - 

17.3 �474?L=4 >V?L>VEFL E<EF5< 4<E?5FG5DEL>>7> G?D46?V==O F4 
F5?5<5E4=V>< 

LF. 
1 0 

18 �D<?44< >5?V>G F5??>6>W 5=5D7VW V ?VG<?L=<>< ��� 

18.1 �474?L=4 >V?L>VEFL ?D<?44V6 >5?V>G F5??>6>W 5=5D7VW =4 &&� LF. 5 0 

18.2 �474?L=4 >V?L>VEFL ?VG<?L=<>V6 ���,7 =<E: LF. 92 0 

 =4 &&� LF. 5 0 

 G E?>6<64GV6 (G 5G4<=>4E) LF. 87 0 

18.3 �4557?5G5=VEFL ?D<?444<< >5?V>G F5??>6>W 5=5D7VW =4 &&� % 100 - 

18.4 �4557?5G5=VEFL ?VG<?L=<>4<< ���, 7 =<E: %   

 =4 &&� % 100 - 

 G E?>6<64GV6 (G 5G4<=>4E) % 39 - 

18.5 �474?L=4 >V?L>VEFL ?D<?44V6 >5?V>G F5??>6>W 5=5D7VW =4 &&�, M> 
=5>5EV4=> 6EF4=>6<F< 4> 100 % >E=4M5=>EFV 

LF. 
0 - 

18.6 �474?L=4 >V?L>VEFL ?VG<?L=<>V6 ���, M> =5>5EV4=> 6EF4=>6<F< 4> LF. 136 - 
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100 % >E=4M5=>EFV, G F><G G<E?V: 

 =4 &&� LF. 0 - 

 G E?>6<64GV6 (G 5G4<=>4E) LF. 136 - 

19 &D4=E?>DF=V 74E>5< 

19.1 �474?L=4 >V?L>VEFL E?5FV4?L=<E F4 E?5FV4?V7>64=<E FD4=E?>DF=<E 
74E>5V6, 7 =<E: 

LF. 
11 0 

 E?5FF5E=V>< LF. 3 0 

 64=F46=<E 46F><>5V?V6 LF. 1 0 

 ?57>>6<E 46F><>5V?V6 LF. 0 - 

20 �G4V6?V F4 E?>DG4< 6<D>5=<G>7> ?D<7=4G5==O 

 �474?L=4 >V?L>VEFL LF. 8 0 

21 �?4?N64?L=4 ??>M4 F<E.>6.< 1217,97 - 

22 �4557?5G5==O 74DOG>N 6>4>N F<E. 
6<F5?V6 40,73 - 

23 �D<T4=4=5 =464=F465==O 74 >4F57>DVO<<: 

 =4E5?5==O �>4?/7>4 91,792 - 

 5N465F=V GEF4=>6< �>4?/7>4 10,568 - 

 V=LV �>4?/7>4 6,304 - 

24 $4>F<G=V DVG=V 6FD4F< F5??>6>W 5=5D7VW F<E.�>4? 20,558 - 

% 12,9 - 

 

�<D5>F>D ��� &� <. �>DVL=V �?46=V  
(?>E44>64 >E>54 ?VF5=7V4F4) 

 

________  
(?V4?<E) 

 

�46?> %����� 
(�?4E=5 V<'O �$����-�) 

�.�. 

�>?>6=<= 5GE74?F5D ________  
(?V4?<E) 

&4<4D4 ���������  
(�?4E=5 V<'O �$����-�) 

 

�4G4?L=<> �&�  

(?>E444 6V4?>6V44?L=>7> 6<>>=46FO) 

 

________  
(?V4?<E) 

 

�4F4?VO ��&���� 
(�?4E=5 V<'O �$����-�) 
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                                       �>44F>> 7  
 

��$�$��&���� �����  
?>E44>6>W >E>5< ?VF5=7V4F4 =4 >5D>5>G ?5DE>=4?L=<E 44=<E 

 

/,   %=V6>> �46?> �64=>6<G , ?D< =444==V 44=<E 4> �>DVL=L>??46=V6EL>>W <VEL>>W D44< 
�>?F46EL>>W >5?4EFV 44N 77>4G 6V4?>6V4=> 4> �4>>=G '>D4W=< «�D> 74E<EF ?5DE>=4?L=<E 
44=<E» =4 >5D>5>G <>WE >E>5<EF<E ?5DE>=4?L=<E 44=<E G >4DF>F5>4E F4/45> 74 4>?><>7>N  
V=D>D<4FV==>-F5?5>><G=V>4FV==<E E<EF5< 7 <5F>N ?V47>F>6>< 6V4?>6V4=> 4> 6<<>7  
74>>=>446EF64 EF4F<EF<G=>W, 44<V=VEFD4F<6=>W F4 V=L>W V=D>D<4FVW 7 ?<F4=L 4VO?L=>EFV  
?VF5=7V4F4. 

 

 

___________________________  
(?V4?<E) 

 

 

<___= _______________ 2024 D>>G  
(44F4) 

 

 

 

 

�<D5>F>D ��� «&�»  

<. �>DVL=V �?46=V 
(?>E444 ?>E44>6>W >E>5< ?VF5=7V4F4) 

 

 

 

 

        ___�46?> %�����_  
(�?4E=5 V<'O �$����-�) 
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��/%�.���,�� ����%�� 

1. �%&'� 

  �><G=4?L=5 6<D>5=<G5 ?V4?D<T<EF6> «&5??>5=5D7>» <.�>DVL=V  �?46=V» (44?V - 
��� «&�» <. �>DVL=V �?46=V») T ?D46>=4EFG?=<>>< >><G=4?L=> 6<D>5=<G>7> 
?V4?D<T<EF64 <�><E><>?LEL>F5??>5=5D7>= F4  VE=GT 7 1966  D>>G. �E=>6=<< =4?DO<>>< 
4VO?L=>EFV ?V4?D<T<EF64 T  =444==O E?>6<64G4<   ?>E?G7  7  >?4?5==O  F4 74DOG>7>  
6>4>?>EF4G4==O. �V?L>VEFL =4E5?5==O O>5 ?V4?D<T<EF6> 74557?5GGT ?>E?G7>N E>?444T 
21000 45>=5FV6. 

�5D4=<= ��� «&�» <. �>DVL=V �?46=V» V==>64FV==<= L?OE D>76<F>G 6545 4> 
6V4=>6?5==O F4 <>45D=V74FVO E<EF5<< F5=FD4?V7>64=>7> F5??>?>EF4G4==O, F5E=VG=>7> 
?5D5>E=4M5==O F4 5D5>F<6=>7> <5=546<5=FG, D5>>=EFDG>FVW 6<D>5=<G<E >59T>FV6 4?O 
D>5>F< =4 =4=EGG4E=VL><G F5E=>?>7VG=><G DV6=V. 

�>?>6=<< ?DV>D<F5F>< >><?4=VW T O>VEFL =444==O ?>E?G7, 557?5>4 4?O ?N45= F4 
=46>>?<L=L>7> E5D54>6<M4. 

 

2. �>D>F>4 V=D>D<4FVO ?D> ?VF5=7V4F4. 

  �V4?>6V4=> 4> %F4FGFG, =4 ?V4EF46V O>>7> 4VT >><G=4?L=5 6<D>5=<G5 ?V4?D<T<EF6> 
«&5??>5=5D7>» <.�>DVL=V  �?46=V» (44?V - ��� «&�» <. �>DVL=V �?46=V»), ?V4?D<T<EF6> 
74E=>64=> =4 <4==V E?V?L=>W (>><G=4?L=>W) 6?4E=>EFV F5D<F>DV4?L=<E 7D><44, EV?, E5?<M V 
<VEF �>?F46EL>>W >5?4EFV, 4 E4<5 =4 ?V4EF46V DVL5==O �>?F46EL>>W >5?4E=>W D44<  6V4 
31.10.2001D. «�D> ?5D544GG <4==4 6<F?>6>->><G=4?L=>7> 7>E?>44DEF64, M> =4?56<FL 
E?V?L=V= 6?4E=>EFV F5D<F>DV4?L=<E 7D><44 �>?F46EL>>W >5?4EFV» F4 DVL5==O 
�><E><>?LEL>>W <VEL>>W D44< �>?F46EL>>W >5?4EFV 6V4 29.11.2001D. «�D> ?D<==OFFO G 
6?4E=VEFL F5D<F>DV4?L=>W 7D><44< <. �><E><>?LEL>4 <4==4 �<D>5=<G>7> <V6D4=>==>7> 
DV?V4?G F5??>6>7> 7>E?>44DEF64 «�><E><>?LEL>F5??>5=5D7>» �����&� 
«�>?F464F5??>5=5D7>», M> ?5D55G64T G E?V?L=V= 6?4E=>EFV F5D<F>DV4?L=<E 7D><44 
�>?F46EL>>W >5?4EFV». � 29.11.2001D. ��� «�><E><>?LEL>F5??>5=5D7>» T 
?D46>=4EFG?=<>>< <4==>6<E F4 =5<4==>6<E ?D46 F4 >5>69O7>V6 6<D>5=<G>7> 
<V6D4=>==>7> DV?V4?G F5??>6>7> 7>E?>44DEF64 «�><E><>?LEL>F5??>5=5D7>» �����&� 
«�>?F464F5??>5=5D7>» F4 6?4E=VEFN F5D<F>DV4?L=>W 7D><44< <. �><E><>?LEL>4 
�>?F46EL>>W >5?4EFV. �7V4=> DVL5==O �><E><>?LEL>>W <VEL>>W D44< 12.07.2016D. ��� 
«�><E><>?LEL>F5??>5=5D7>»  5G?> ?5D5=<5=>64=5 =4 >><G=4?L=5 6<D>5=<G5 
?V4?D<T<EF6> «&5??>5=5D7>» <. �>DVL=V  �?46=V». �V4?D<T<EF6> T 6?4E=VEFN 
F5D<F>DV4?L=>W 7D><44< <. �>DVL=V �?46=V 6 >E>5V �>DVL=L>??46=V6EL>>W <VEL>>W D44< 
�>?F46EL>>W >5?4EFV. 
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�5?4EFL >E>??5==O ?>E?G74<< ��� «&�» <. �>DVL=V �?46=V» ?>L<DNTFLEO =4 6E5 
<VEF>, 6>?NG4NG< 46V =565?<>V 6V4>>D5<?5=V 4V?O=><, M> ?>EF4G4NFLEO >>F5?L=<<< 
=565?<><E D>7<VDV6. �E=>6=4 F5D<F>DVO >5E?G7>6G64==O ?>EF4G4TFLEO 46><4 >>F5?L=<<< V 
6>?NG4T 6 E555 ?'OFL F5=FD4?L=<E F5??>6<E ?G=>FV6 (&&�), M> =444NFL >?4?N64==O F4 
74DOG5 6>4>?>EF4G4==O (���) E?>6<64G4<, ?V4>?NG5=<< 4> E<EF5<< F5??>?>EF4G4==O.  

%FDG>FGD4 6<D>5=<FF64 E>?444TFLEO 7 G>F<DL>E >>F5?L=<E, ?5D5D4E>64=<E =<6G5: 
÷ >>F. «6G?. �=5D75F<>V6 31 
÷ >>F. «15 - = D4=>= 
÷ >>F. «6G?. ,56G5=>4 9 
÷ >>F. «6G?. �455D56=4 3. 

 

 

 
�<D>5=<FF6> F5??>6>W 5=5D7VW 74V=E=NTFLEO =4 >>F?4E M> ?D4FNNFL =4 ?D<D>4=><G 

747V DV7=>W ?>FG6=>EFV, 6 >>F5?L=V 15 <V>D-=G. 6EF4=>6?5=V 464 >>F?4 =4 ?>=>6?N64?L=<E 
465D5?4E (5V><4EV). 

 
�>F5?L=V  �D5>F=4 ?>FG6=VEFL (��F) �V4>?NG5=5 F5??>65 

=464=F465== (��F) 
>>F. «6G?. �=5D75F<>V6 31 
 

174,45 108,1 

>>F. «15 - = D4=>= 
 

24,78 19,68 

>>F. «6G?. ,56G5=>4 9 
 

0,40 0,43 

>>F. «6G?. �455D56=4 3 
 

2,56 0,51 

�474?4L=4 ?>FG6=VEFL 
 

202,19 128,63 
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�E=>6=V ?4D4<5FD< 4VO?L=>EFV ��� «&�» <. �>DVL=V �?46=V» =46545=V 6 
F45?<FV. 

 
1 �>F5?L=V LF. 4 
2 &5=FD4?L=V F5??>6V ?G=>F< (&&�) LF. 5 
3 �474?L=4 ?D>FO6=VEFL <5D56 && (2-FDG5=5 

6<<VDN64==O) 
>< 40 

4 �474?L=4 ?D>FO6=VEFL <5D56 ��� (2-FDG5=5 
6<<VDN64==O) 

>< 14 

5 �5'T< 6>4< <5D56 F5??>?>EF4G4==O GEVE 
>>F5?L=<E 

<3 3887 

6 �EF4=>6?5=4 ?>FG6=VEFL 6EVE >>F5?L=<E ��F 202,2 
7 �474?L=5 ?V4>?NG5=5 =464=F465==O ��F 128,6 
8 �V4>?NG5=5 =464=F465==O 4?O && ��F 92,3 
9 �V4>?NG5=5 =464=F465==O 4?O ��� ��F 36,3 
10 �V4>?NG5=5 =464=F465==O 4?O 4><>7>E?>44DEF6 ��F 112,4 
11 �V4>?NG5=5 =464=F465==O 4?O 45D646=<E 

EG5'T>FV6 
��F 11,6 

12 �V4>?NG5=5 =464=F465==O 4?O >><5DFV==<E F4 
V=L<E E?>6<64GV6 

��F 4,6 

13 �V?L>VEFL 6<F?>6<E 5G4<=>V6, ?V4>?NG5=<E G5D57 
&&� 4> <5D56V && 

LF. 141 

14 �V?L>VEFL 6<F?>6<E 5G4<=>V6, ?V4>?NG5=<E G5D57 
5?564F>D=V 6G7?< 4> <5D56V && 

LF. 81 

15 �47. >V?L>VEFL ?V4>?NG5=<E 6<F?>6<E 5G4<=>V6 4> 
<5D56V && 

LF. 222 

16 �V?L>VEFL V=L<E 5G4<=>V6, ?V4>?NG5=<E G5D57 
&&� 4> <5D56V && 

LF. 51 

17 �V?L>VEFL V=L<E 5G4V65?L, ?V4>?NG5=<E G5D57 
5?564F>D=V 6G7?< 4> <5D56V && 

LF. 53 

18 �474?L=4 >V?L>VEFL V=L<E 5G4V65?L, ?V4>?NG5=<E 
4> <5D56V && 

LF. 104 

19 �474?L=4 >V?L>VEFL ?V4>?NG5=<E 5G4V65?L 4> 
<5D56V && 

LF. 326 

20 �?4?N64=4 ??>M4 6<F?>6<E 5G4<=>V6 <2 995 777 
21 �474?L=4 >?4?N64=4 ??>M4 <2 1 230 670 

 
�>F5?L=O ?> ?D>6. �=5D75F<>V6,31 (>>F5?L=O 71)  >5?44=4=4 FDL><4 >>F?4<< 

�&��-50. �>F?< �&��-50 66545=V 6 5>E??G4F4FVN 6 1966 3 1975 D>>4E V 6 44=<= G4E 
6<>>D<EF>6GNFLEO O>  6 >?4?N64?L=<=  F4> V 6 <V6>?4?N64?L=<= ?5DV>4. �EF4=>6?5=4 
?>FG6=VEFL >>F5?L=V 71 EF4=>6<FL 174,45 ��F, ?V4>?NG5=5 =464=F465==O E>?444T 108,01 
��F. $>7D4EG=>>6<= F5<?5D4FGD=<= 7D4DV> D>5>F< >>F5?L=>W 3 115/70 0%. �>F5?L=O 
>5?44=4=4 E<EF5<>N ?4?<6>74557?5G5==O (?D<D>4=<= 747), 5?5>FD>74557?5G5==O, 
6>4>?V47>F>6><, 46F><4F<74FVW, 74E<EFG V >>=FD>?N ?4D4<5FDV6. �4 >>F5?L=V= 6<>>=GTFLEO 
>5?V> E?>6<F>7> ?D<D>4=>7> 747G, 5?5>FD>5=5D7VW, 6V4?GM5=>W F5??>6>W 5=5D7VW, 
6<>>D<EF4=>W E>?>4=>W 6>4< 4?O ?>FD55 F5E=>?>7VW 6<D>5=<FF64 F5??>6>W 5=5D7VW. �5?V> 
E>?>4=>W 6>4< 4?O 6?4E=<E ?>FD55 6<>>=GTFLEO 74 4>?><>7>N >>D5<<E ?D<?44V6 >5?V>G. 
$56<< D>5>F< >>F5?L=V 3 FV?>DVG=<=. �E=>6=V E?>6<64GV F5??>6>W 5=5D7VW 3 <5L>4=FV   1-7> 
3 6-7>, 10-7> F4 12-7> <V>D>D4=>=V6 <VEF4, ?V>4D=O=<= >><??5>E F4 =565?<>4 >V?L>VEFL 
?D><<E?>6<E E?>6<64GV6 F4 E?>6<64GV6 5N465F=>W ED5D<. 

       &5=FD4?L=V F5??>6V  ?G=>F<, O>V  D>7F4L>64=V 6 5,6,10,12 <V>D>D4=>=4E (6<6?OFLEO 6V4 
>>F5?L=V 71)  74557?5GGNFL: ?D<7>FG64==O 74DOG>W 6>4< E?>6<64G4< F4 =5>5EV4=V 
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?4D4<5FD< D>5>F< E<EF5<< >?4?5==O 44=<E <V>D>D4=>=V6. 'EV &&� >5?44=4=V E<EF5<>N 
46F><4F<74FVW, O>4 ?D<7=4G5=4 4?O G?D46?V==O V D57G?N64==O F5E=>?>7VG=<<<  ?D>F5E4<< 
557 =4O6=>EFV G5D7>6>7> ?5DE>=4?G. � F4>>6 ?5D544G4 6EVE 7=4G5=L ?4D4<5FDV6 
D57G?N64==O 7 44=<E >5'T>FV6 =4 ?5DE>=4?L=<= >><?9NF5D E?G65< 5=5D7><5=546<5=FG. 
%<EF5<4 46F><4F<74FVW >D74=V7>64=4 =4 547V <4?>>4=4?L=>7> 5474F>DG=>FV>=4?L=>7> 
<V>D>?D>F5E>D=>7> >>=FD>?5D4 ���-52. 

 

 

 

 

&5E=VG=4 E4D4>F5D<EF<>4 VE=GNG>W >>F5?L=V V E<EF5<< F5??>?>EF4G4==O 76545=V 6 
F45?<FN: 

�

>7 
�4=<5=G64==O 

�4<=<FV  

6<<VDG 
�>>47=<> �D<<VF>4 

1 &5??>64 ?>FG6=VEFL >>F5?L=V 
��F 

(�>4?/7>4) 

174 

(150) 
 

2 

�4>E<<4?L=5 F5??>65 =464=F465==O =4 
>>F5?L=N, 

��F 
(�>4?/7>4) 

86.91 

(74.92) 
 

6 F.G.: =4 >?4?5==O V 65=F<?OFVN 
��F 

(�>4?/7>4) 

61.52 

(53.04) 
 

=4 74DOG5 6>4>?>EF4G4==O 
��F 

(�>4?/7>4) 
14.12 

(12.15) 
 

6?4E=V ?>FD55< V 6FD4F< 6 F5??><5D56V 
��F 

(�>4?/7>4) 
11.26 
(9.73) 

 

3 
�4?<6> 3 ?D<D>4=<= 747  

�=
D = 8050 >>4? / =<3 

=<3 / 7>4 10950 
$>7D. ?> 
=464=F4-
65==N 

4 �>5DVFVT=F >>D<E=>W 4VW >>F?V6 % 85  

5 
&5??>=>EV= 6 >>=FGDV F5??><5D56V 3 6>44 
7 F5<?5D4FGD>N 

°% 115370  
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6 $>5>G<= F<E> F5??>=>EVO ��4 1.6  

7 �<FD4F4 <5D56=>W 6>4<  <3 /7>4 2350  

8 %?>6<64==O 5?. 5=5D7VW >�F 1200  
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                                                           �4?.2 

 

         �V4?GE> F5??4 >>F5?L=5N 74V=E=NTFLEO 6V4 3->E  ?D4FNNG<E >>F?V6 �&�� - 50, O>V 
7=4E>4OFLEO G FV= 65 5G4V6?V >>F5?L=V. �>=EFDG>FVO >>F?V6 O6?OTFLEO F4>>N, M> =<6=O 
G4EF<=4 7=4E>4<FLEO 6 ?D<<VM5==V, 4 65DE=O  -  =4 7>6=V ( <4?.1 F4 <4?.2). &4>4 >><?>=>6>4 
7=4G=> 7=<6GT >>5DVFVT=F >>D<E=>W 4VW D>5>F< >>F?V6, M> ?D<76>4<FL 4> ?V46<M5=<E 
6<FD4F F5??4 F4 E?>6<64==O ?D<D>4=>7> 747G (?4E?>DF=<= ��� >>F?4 �&��-50 ?VE?O 
5>E??G4F4FVW 45 D>>V6 EF4=>6<FL 3 88,06, 4 ?> D4>FG 3 74,92).   �E>V?L><   >>F?<  ?D>D>5<?< 
5V?LL5 =V6 45 D>>V6, F> 6>=< ?>FD55GNFL 74<V=<. &5??><5E4=VG=5 >5?44=4==O >>F5?L=V 
F4>>6 EGFFT6> 746<M5=> ?> ?D>4G>F<6=>EFV G ?>DV6=O==V 7  ?D<T4=4=<< F5??>6<< 
=464=F465==O< 3 174,5 ��F 3 ?D>4G>F<6=VEFL >>F5?L=V, 108,1 ��F 3 ?D<T4=4=5 
=464=F465==O, ?5D56<M5==O E>?444T =4 35%. 

�>DV< FL>7>, M>DVG=V 6<FD4F< =4 D5<>=F< >>=65>F<6=>W G4EF<=< >4=>7> >>F?4 
EF4=>6?OFL 5?<7L>> 500 F<E. 7D=., 6<FD4F< =4 D5<>=F >5<GDG64==O >>F?V6 E>?444NFL 
5?<7L>> 100 F<E. 7D=. 6 DV>, 6<FD4F< =4 >><??5>E=V 74E>4< ?> =4?47>46G64==N F4 
D57G?N64==N >>F?V6 3 5?<7L>> 150 F<E.7D=. 6 DV>.   

 %GFFT65 =54>64=F465==O >>F?V6, F5??><5E4=VG=>7> >5?44=4==O  ?D<76>4<FL 4> 
7<5=L5==O 5D5>F<6=>EFV D>5>F< >>F5?L=V V 7<5=L5==O 65?<G<=< ���, EGFFT6>7> 
75V?LL5==O 6FD4F 5=5D7VW O> G E4<<E >>F?4E, F4> V =4 6?4E=V ?>FD55<.   
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 �5D56=V =4E>E<, F5??><5E4=VG=5 >5?44=4==O, ?V46<6?NNGV =4E>E<, ?D<?444<< ��� 
V �, E<EF5<4 5?5>FD>>E6VF?5==O 6<<474NFL =574==>7> ?D<6545==O G 6V4?>6V4=VEFL 4> 
VE=GNG<E F5??>6<E =464=F465=L V =>D<4F<6=<E 6<<>7. � 44=<= G4E >>F5?L=O 
5>E??G4FGTFLEO 557 46F><4F<G=>7> D57G?N64==O V 46F><4F<>< 557?5>< 7 ?>EFV==> 
?D<EGF=V< >5E?G7>6GNG<< ?5DE>=4?><.  

3 . �����,�� '�%&���         

�4 EL>7>4=VL=V= 45=L E5>F>D F5=FD4?V7>64=>7> F5??>?>EF4G4==O 6 '>D4W=V 
7=4E>4<FLEO 6 >D<F<G=><G EF4=V =4 6EVE 5F4?4E, ?>G<=4NG< 6V4 6<D>5=<FF64, D>7?>4V?G F4 
E?>6<64==O F5??4 4?O >?4?5==O ?D<<VM5=L F4 74DOG>7> 6>4>?>EF4G4==O, 6V4?>6V4=>  
6<=<>?4 =474?L=4 ?>FD554 D>7D>5>< F5E=V>>-5>>=><VG=>7> >5�DG=FG64==O (44?V-&��) 7 
6<E>>>N =44V==VEFN F5??>?>EF4G4==O, ?V46<M5=>N >><D>DF=VEFN F4 4>EFG?=<<< FV=4<< 
=4 F5??> 6 =4L><G <VEFV. 

 � 2017 D>FV D4EV6FO<< >><?4=VW «Ramboll» 5G?> D>7D>5?5=> F5E=V>>-5>>=><VG=5 
>5�DG=FG64==O ?D>5>FG (?D>7D4<4 ?DV>D<F5F=<E V=65EF<FV= F45?. 1.3) ?> 6V4=>6?5==N F4 
<>45D=V74FVW F5=FD4?V7>64=>W E<EF5<< F5??>?>EF4G4==O <VEF4 �>DVL=V �?46=V, O><= =4 
44=<= G4E D54?V7>6GTFLEO  ��� «&�» <. �>DVL=V �?46=V» 74 D4EG=>> >D54<F=<E >>LFV6 
�V6=VG=>W �>>?>7VG=>W $V=4=E>6>W �>D?>D4FVW  ��$�� (44?V-��$��), 7D4=4G $>=4G 
�4DF=5DEF64 M>4> �=5D7>5D5>F<6=>EFV F4 �>6>V??O %EV4=>W �6D>?< (44?V - <$>=4 �5P=) F4 
<VEF56>7> E?V6DV=4=EG64==O. 

�4=4 V=65EF<FV==4 ?D>7D4<4 D>7D>5?5=4 7 <5F>N 5D5>F<6=>W D54?V74FVW ?D>5>FG 
��� «&�» <. �>DVL=V �?46=V» F4 G 769O7>G 7 74?GG5==O< >D54<F=<E >>LFV6 6V4  �V6=VG=>W 
�>>?>7VG=>W $V=4=E>6>W �>D?>D4FVW  ��$�� 6 EG<V 4,98 <?=.T6D>. F5D<V=>< =4 9 D>>V6 7 
<><5=FG ?V4?<E4==O, EF46>4 EURIBOR ??NE <4D64 G D>7<VDV 6,0 % DVG=<E, M> ?V4?O74T 
>??4FV G =4=5?<6GG 44FG ?>65D=5==O >D54<FG (?<EF>?44 2020D.) F4 >>6=V =4EFG?=V 6 
<VEOFV6 G 6V4?>6V4=V 44F< ?>65D=5==O >D54<FG. �>7<G4?L=<> ?>6<=5= ?>74E<F< =444=G 
>E=>6=G EG<G >D54<FG VEF>F=>N <VD>N DV6=<<< ?>E?V4>6=<<< ?V6DVG=<<< ??4F564<< =4 
>>6=G 44FG ??4F56G, ?>G<=4NG< 7 44F< ??4F56G, O>4 6<?444T =4 45> =4=5?<6G5 4> 44F<, 
M> 6<?444T G5D57 24 (4644FOFL G>F<D<) <VEOFV ?VE?O 44F< G>?445==O >D54<F=>7> 4>7>6>DG 
(?5DL4 44F4 ?>74L5==O) F4 7465DL<F< ?>74L5==O =5 ?V7=VL5 =V6 74 4569OFL (9) D>>V6 7 44F< 
?V4?<E4==O >D54<F=>7> 4>7>6>DG.  

�5F>N �D54<FG T E?V6DV=4=EG64==O 77V4=> ??4=G ?DV>D<F5F=<E V=65EF<FV= 
V=65EF<FV= G <>45D=V74FVN F4 F5E=VG=5 ?5D5>E=4M5==O >E=>6=<E 6<D>5=<G<E ?>FG6=>EF5= 
��� «&�» <. �>DVL=V �?46=V», M> 6<>>D<EF>6GNFLEO 4?O 6<D>5=<FF64 F5??>6>W 5=5D7VW 
4?O F5=FD4?V7>64=>7> F5??>?>EF4G4==O, 4 E4<5 >>F5?L=V ?> 6G?. �=5D75F<>V6 31, F4 
6EF4=>6?5==O E<EF5<< 4<EF4=FV==>7> >>=FD>?N SCADA.  

 
&45?.1.3 �?NG>6V ?4D4<5FD< 4?O >FV=>< ��� 

�5D5647< ��� �4<=<FO 
6<<VDG 

�><?>=5=F< ��� $47>< 
�>F?< 
=4 
��% 

�47>6
V 
>>F?< 

�>?><V6=5 
>5?44=4==
O 

&DG5>?D>6>4
< 

SCAD
A 

�=65EF.6<FD4F
< 

<?=.T6D> 3,07 4,99 0,24 0,15 0,08 8,45 

$VG=4 5>>=<VO <?=.T6D> 0,99 0,25 0,13 0,04 0,07 1,47 
��� D>>V6 3,1 13,2 7,3 10,4 1,2 5,3 
��� (15D>>V6) % 47 2 13 6 558 22 
��� (20 
D>>V6) 

% 47 5 15 8 558 23 

%>>DG5== 
6<><4V6 %�2 

F%�2/DV
> 

13,39
4 

1,579 1,132 313 588 17,00
6 

 

�D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



 
�?O >FD<<4==O =4=>D4M>7> DV=4=E>6>7> D57G?LF4FG F4 =4=6<M>7> EFG?5=N 

5=5D75F<G=>W 557?5>< <VEF4, 74557?5G5==O 74E<EFG =46>>?<L=L>7> E5D54>6<M4 F4 
557?5G=<E G<>6 ?D4FV =5>5EV4=> ?D>6545==O ?>6=>W <>45D=V74FVW E<EF5<< 
F5=FD4?V7>64=>7> F5??>?>EF4G4==O <VEF4 77V4=> &�� D>7D>5?5=>7> >><?4=VTN «Ramboll». 
�57 74?GG5==O 7=4G=<E V=65EF<FV= <V6=4D>4=<E DV=4=E>6<E >D74=V74FV=, 6 F><G G<E?V 
5>>?>7VG=<E, O>V =4=5V?LL 74FV>46?5=V G E>>D>G5==V 6<><4V6 CO2 =4 F5D<F>DVW '>D4W=<,  
6?D>64465==O F4 6<>>=4==O V=65EF<FV==>W ?D>7D4<< ?V4?D<T<EF6>< =5 <>6?<65. 
�V4?>6V4=> 4?O D54?V74FVW 44=>7> ?D>5>FG <>5V?V7>64=> D5EGDE 74 D4EG=>> >D54<F=<E 
>>LFV6 �V6=VG=>W �>>?>7VG=>W $V=4=E>6>W �>D?>D4FVW  ��$��, 7D4=F>6<E >>LFV6 $>=4G 
?4DF=5DEF64 M>4> 5=5D7>5D5>F<6=>EFV F4 4>6>V??O %EV4=>W �6D>?< �5$, 6=5E>G <VEF4 F4 
6?4E=<E >>LFV6 ?V4?D<T<EF64, M> 74557?5G<FL =5 FV?L>< ?D> 5>>=><VG=G >?F<<V74FVN F4 
>>D>F><= F5D<V= >>G?=>EFV, 4 ?D> =4=>?F<<4?L=VL<= E?>EV5 744>6>?5==O >E=>6=<E 6<<>7 
4?O 74557?5G5==O EF4?>7> =444==O ?>E?G7< F5=FD4?V7>64=>7> F5??>?>EF4G4==O 6 <VEFV 6 
4>67>EFD>>>6V= ?5DE?5>F<6V V7 =4=6<M>N =44V==VEFN 74557?5G5==O F5??>?>EF4G4==O <VEF4 
F4 6<E>><< EFG?5=5< 744>6>?5=>EFV 45>=5=FV6(?. 3 6V4><>EFV ?D> V=65EF<FVW). 

 �7V4=> 7 DV=4=E>6<< ??4=><, =4?DO<>> 6<>>D<EF4==O >>LFV6 G EFDG>FGDV F4D<DV6, T 
?>74L5==O >E=>6=>W 745>D7>64=>EFV F4 6V4E>F>V6 74 >>D<EFG64==O >D54<F=<<< >>LF4<< 74 
>D54<F=<< 4>7>6>D>< (4>44F>> 74). 

 
&4> O> ?D>7D4<4 ?DV>D<F5F=<E V=65EF<FV= F4 F5E=V>>-5>>=><VG=5 >5�DG=FG64==O  

6>?NG4T 6?D>64465==O >>F?V6 =4 5V><4EV,5>E??G4F4FVO =>6<E 747>6<E >>F?V6 7=4G=> 
E>>D>F<FLEO 4> 5?<7L>> 2000 7>4<= 6 E5D54=L><G =4 DV>, ?D>EF<= F5D<V= >>G?=>EFV 
>FV=NTFLEO G 5?<7L>> 14 D>>V6. 

 
�D5>F 6V4 6?D>64465==O ?5DL>7> 5F4?G ?D>5>FG. 

 
 
 

 

�>6V 747>6V 
>>F?< 

�4<=<FO 
6<<VDN64==O 

�V?L>VEFL �4<=<FO 
6<<VDN64==O 

&V=4 %5D54=O 
5>>=><VO F<E. 
7D=.DV> 

�>>=><VO 747G 1000 =<3/DV> 609 7D= /1000 =<3 5845,23 6 454 

�>>=><VO 
5?5>FD>5=5D7VW 

��F/ DV> 289 7D= / ��F 2980 861,2 

�>>=><VO 6>4< 1000 <3/ DV> 0 1000 <3 13,28 0 

�>>=><VO 
D5<>=F V F.4. 

1000 7D= / DV>    859 

$VG=<= >5EO7 74>M4465=L                                                                                                          8174,2 

�=65EF<FVW 557 
��� 

1000 7D=. 114177,61    

�D>EF<= F5D<V= 
>>G?=>EFV 

D>>V6 14    

%>>D>G5==O  
F%02/ 

F%02/DV> 269 �7/%�2 =4 T6D> 0,35 0,94 
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    4.  ����$����&�/ ��&��,�� ?> ?D>6. �=5D75F<>V6,31 

�D>6>4<FLEO ?>6=4 <>45D=V74FVO >>F5?L=V ?> ?D>6. �=5D75F<>V6,31, O>4 T 
=4=5V?LL>N >>F5?L=>N =4 F5D<F>DVW <VEF4, L?OE>< 6EF4=>6?5==O =>6<E 747>6<E F4 
5V>?4?<6=<E >>F?V6, =>6>W 4>?><V6=>W 4D<4FGD< F4 46F><4F<>< >>=FD>?N F4 <>=VF>D<=7G. 
�E=GNG5 F5E=>?>7VG=5 >5?44=4==O T ?>6=VEFN 7=>L5=<< F4 ?>FD55GT ?>6=>W =>7> 74<V=<.  

 

�4 44=<= G4E ?D>6545=> ?5DL<= 5F4? 3 4 E4<5 GEF4=>6>4 >>F?4 �OSCH UNIMAT 
3 UT - HZ 32500 F4 >5?44=4==O >>F?>6>W >569O7><, 6 >>F5?L=><G 74?V >>F?V6 ���$ 7 
755D565==O< 6 D>5>G><G EF4=V VE=GNG<E >>F?V6 �&��-50 F4 V=L>7> VE=GNG>7> 
F5??><5E4=VG=>7> >5?44=4==O, M> 74557?5GGT D>5>FG E<EF5<< F5??>?>EF4G4==O, 74V=E=5=> 
?>EF46>G F4 <>=F46 >E=>6=>7> F5E=>?>7VG=>7> >5?44=4==O F4 FDG5>?D>6>4V6, 5?5<5=FV6 
E<EF5< F5??>- 6>4>- F4 5?5>FD>?>EF4G4==O. �>F5? ?V4>?NG5=> ?> =574?56=V= EE5<V 7 
6EF4=>6?5==O< 46>E F5??>>5<V==<>V6. �D>6>4<FLEO ?>EF4G4==O 46>E 4=4?>7VG=<E >>F?V6 
�OSCH UNIMAT 3 UT - HZ 32500 7 E<EF5<4<< 4<<>6<44?5==O F4 EG?GF=V< >5?44=4==O< 
4?O ?V4>?NG5==O< WE ?> =574?56=V= EE5<V 7 6EF4=>6?5==O< M5 46>E F5??>>5<V==<>V6 4> 
6=GFDVL=L>>>F5?L=>7> F<D>G?OFV==>7> >>=FGDG, 7<>=F>64=>7> 6 E>4V D54?V74FVW ?5DL>7> 
5F4?G 5G4V6=<FF64. �VE?O 74>V=G5==O ?5DL>7> 5F4?G 5G4V6=<FF64, 5G45 D54?V7>64=4 
<>6?<6VEFL 5>E??G4F4FVW 6EF4=>6?5=>7> >5?44=4==O =4 ?>6=V= ?>FG6=>EFV. 

�5EO7 D>5VF 6>?NG4T:  

÷ �D>6545==O 74>G?V6?V, ?V47>F>6>< F4 6EF4=>6?5==O FDL>E 6>4>7DV==<E 747>6<E 
>>F?V6 7 D>74V?5==O< F<D>G?OFV==>7> >>=FGDG >>F5?L=>W F4 >>=FGDG E<EF5<< 
F5??>?>EF4G4==O; 

÷ �EF4=>6?5==O V=4<6V4G4?L=<E F5??>V7>?L>64=<E 4<<>6<E FDG5 4?O >>6=>7> 7 FDL>E 
>>F?V6;  

÷ �4<V=G =4E>E=<E 47D574FV6; 
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÷ �EF4=>6?5==O ?D<6>4V6 7V 7<V==>N G4EF>F>N >55DF4==O (44?V �'&),  

÷ �4<V=4 7>?>6=>7> >>?5>F>DG >>F5?L=>W, =4475<=5 ?D>>?444==O >>?5>F>DG 7 
?>?5D54=L>V7>?L>64=<E FDG5>?D>6>4V6 6 E?VD>>5>?>=FV 7 >>F5?L=>7> 74?G 72 4> 
>>F5?L=>7> 74?G 71, 74<V=4 >>?5>F>DG >>=FGDG 7>6=VL=VE F5??>6<E <5D56; 

÷ �EF4=>6?5==O <47=VF=<E E5?4D4F>DV6 5DG4=4 >E=>6=><G F<D>G?OFV==><G 
FDG5>?D>6>4V E<EF5<< F5??>?>EF4G4==O;  

÷ �>EF46>4 F4 6EF4=>6?5==O 4>?><V6=>7> >5?44=4==O, F4>>7> O>: FDG5>?D>6>4< 
F5??><5E4=VG=>W >569O7>< >>F5?L=V,F5??>6G V7>?OFVN F4 4=F<>>D>7V==<= 74E<EF 
FDG5>?D>6>4V6 F4 >5?44=4==O, E<EF5<< 46F><4F<G=>7> >>=FD>?N,  M<FV6 46F><4F<>< 
F4 G?D46?V==O >>F?4<<, 74?VD=>W F4 74?VD=>-D57G?NNG>W 4D<4FGD<, E<EF5<< EV<VG=>W 
>5D>5>< ?V46<6?N64?L=>W  6>4< >>F?>6>7> >>=FGDG (EV<6>4>?V47>F>6><, 
EF45V?V74FV==>W >5D>5>< F4 4545D4FVW), 44FG<>< F4 5?5<5=F< E<EF5<< ��� V � F4 V=.; 

÷ $5>>=EFDG>FVN E<EF5<< 747>?>EF4G4==O >>F5?L=>W 7 =4475<=<< ?D>>?444==O< =4 
>?>D4E =>6>7> 747>?D>6>4G 6V4 VE=GNG>7>, >>D5<> D>7F4L>64=>7>, 
747>D57G?OF>D=>7> ?G=>FG 6<E>>>7> F<E>G 4> 66>4G 6 ?D<<VM5==O >>F5?L=>W, 
D5>>=EFDG>FVO 747>D57G?OF>D=>7> ?G=>FG 7 74<V=>N D57G?OF>DV6 F<E>G, <>=F46 
6=GFDVL=L>>>F5?L=<E 747>?D>6>4V6 7 6EF4=>6?5==O< 46F><4F<G=>W E<EF5<< 557?5><;  

÷ �<>>=4==O 6 =5>5EV4=><G >59T<V D5>>=EFDG>FVN 6=GFDVL=L>7> 5?5>FD>?>EF4G4==O, 
74<V=G >455?V6 6<6?5==O, E<EF5< >>=FD>?N, G?D46?V==O F4 <>=VF>D<=7G 4?O 
6EF4=>6?5=>7> >5?44=4==O, O> F5 6<7=4G5=> 4>>G<5=F4FVTN >>=>GDE=<E F>D7V6 F4 
D>7D>5?5=<< D4=VL5 ?D>5>F><. 

 

�5�DG=FG64==O ?D>5>F=<E DVL5=L. 

&5??>6V =464=F465==O 

�4>E<<4?L=V F5??>6V =464=F465==O =4 >>F5?L=N, O>V VE=GNFL 6 44=<= G4E, ?D<==OFV 
=4 ?V4EF46V 74644==O =4 ?D>5>FG64==O V ?D< ?D>6545==V D5>>=EFDG>FVW ?> 44=><G ?D>5>FG 
=5 7<V=NNFLEO. �?4E=V ?>FD55< >>F5?L=V D>7D4E>64=V =4 ?5DV>4 ?VE?O D5>>=EFDG>FVW 
>>F5?L=V. �FD4F< F5??4 6 F5??>6<E <5D564E ?D< D5>>=EFDG>FVW >>F5?L=V =5 7<V=NNFLEO. 

 $>7D4EG=>>6V 6<FD4F< F5??4 ?> 6<44< E?>6<64==O 4?O 6EVTW >>F5?L=V. 

7 
�4=<5=G64==O ?>FD55  

6 F5??>6V= 5=5D7VW 

�>4?/7>4<=G 

�>4?/DV> 
�D<<V

F>4 %>?>4=<= 
?5DV>4 

&5??<= 

?5DV>4 

1 
�?4?5==O 6<F?>6<E F4 7D><44EL><E 
5G4V65?L 

53.04 - 101066.4  

2 
�4DOG5 6>4>?>EF4G4==O 6<F?>6<E F4 
7D><44EL><E 5G4V65?L 

12.15 5.81 25600  
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3 �?4E=V ?>FD55< >>F5?L=V 1.53 0.34 2500  

4 �FD4F< 6 F5??><5D564E 8.2 6.42 26228  

 �EL>7> 74.92 12.57 155394.4  

 

&4><< G<=><, <4>E<<4?L=5 D>7D4EG=>>65 =464=F465==O =4 >>F5?L=N, 7 
GD4EG64==O< 6?4E=<E ?>FD55 >>F5?L=V V 6FD4F 6 F5??><5D564E, E>?444T 6 E>?>4=<= ?5DV>4 
D>>G 3 74.92 �>4?/7>4<=G (86.91 ��F), 6 F5??<= ?5DV>4 D>>G 12.57 �>4?/7>4<=G  (14.58 
��F). 

&5E=VG=V ?>>47=<>< D>5>F< >>F5?L=V ?VE?O D5>>=EFDG>FVW =46545=V 6 =4EFG?=V= 
F45?<FV: 

�>7 �4=<5=G64==O 
�4.  

6<<VDG 

�>>47=<
> 

�D<<VF
>4 

1 
&5??>64 ?>FG6=VEFL >>F5?L=V 

?VE?O D5>>=EFDG>FVW 

��F 
(�>4?/7>4) 

90 

(77.4) 
 

2 

�4>E<<4?L=5 F5??>65 =464=F465==O =4  

>>F5?L=N, 

��F 
(�>4?/7>4) 

86.91 

(74.92) 
 

6 F.G.: =4 >?4?5==O  6<F?>6<E V 7D><44EL><E 
5G4<=>V6 

��F 
(�>4?/7>4) 

61.51 

(53.04) 
 

=4 74DOG5 6>4>?>EF4G4==O 
��F 

(�>4?/7>4) 
14.12 

(12.15) 
 

6?4E=V ?>FD55< >>F5?L=V V 6FD4F< 6  

F5??><5D56V 

��F 
(�>4?/7>4) 

11.28 
(9.73) 

 

3 
�4?<6> 3 ?D<D>4=<= 747. 

�=
D = 8050 >>4? / =<3 

=<3 / 7>4 9085 * 

4 �>5DVFVT=F >>D<E=>W 4VW >>F?V6 % 95.5  

5 
&5??>=>EV= 6 ?D><V6=><G >>=FGDV 3 6>44 7 
F5<?5D4FGD>N 

°% 120380  

6 $>5>G<= F<E> F5??>=>EVO ��4 1.6  

7 
�<FD4F4 6>4< 6 ?D><V6=><G >>=FGDV  

>>6=>7> >>F?4 
<3 /7>4 646  
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8 �<FD4F4 6>4< 6 >>=FGDV 5>>=><4=75D4 <3/7>4 37.5  

9 %?>6<64==O 5?. 5=5D7VW >�F 1200  

 

* D>7D4EG=>> ?> <4>E<<4?L=><G F5??>6><G =464=F465==N; 

'EF4=>6>4 =>6<E >>F?V6 ?5D5454G4TFLEO 6 VE=GNG><G ?D<<VM5==V >>F5?L=>7> 74?G 45 
D4=VL5 D>7F4L>6G64?<EL >>F?< ���$ 10-13 (>>F5?L=<= 74? 72).  

�59T<=>-??4=G64?L=V DVL5==O 

$>7<VD< >>F5?L=>7> 74?G 7 2 4>76>?ONFL D>7<VM5==O 6 =L><G FDL>E >>F?V6 ?> 30 
��F 7 ??>M44>4<< 4?O >5E?G7>6G64==O 4D<4FGD< >>F?4 V GEF4=>6>>N 4>44F>>6>7> 
=4E>E=>7> >5?44=4==O. �>F5?L=<= 74? 6V44V?5=<= 6V4 ?>5GF>6<E ?D<<VM5=L  
?D>F<?>656=>N EFV=>N 7 <565N 6>7=5EFV=>>EFV 4 7>4<=< (F57?O=4 EFV=4). �>F5?L=<= 74? 
74557?5G5=<= 46><4 564>G4FV==<<< 6<E>44<<, O>V D>7F4L>64=V 6 ?D>F<?56=<E G4EF<=4E 
?D<<VM5==O. � >>F5?L=><G 74?V 74557?5GGNFLEO =>D<4F<6=V 6V4EF4=V V ?D>E>4< <V6 V 
5G4V65?L=<<< >>=EFDG>FVO<< V >5?44=4==O< G 6V4?>6V4=>EFV 4> D>74V?G 8-5 ����� 0.00-
1.60-66.  $>7<VM5==O GEF4=>6>< EV<VG=>W >G<EF>< 6>4< V WW 4545D4FVW ?5D5454G4TFLEO 
D>7<VEF<F< 6 ?D<<VM5==V VE=GNG>W %��. �?O ?>44GV ?>6VFDO 4> ?4?L=<>V6 V 4?O 
D>7<VM5==O FDG5>?D>6>4V6 4D5=46G >>F?V6 V >5?44=4==O  ?D>5>F>< ?5D5454G5=V 
?V4?V4?>7>6V >4=4?<. �?O <>=F46G 65?<>>7454D<F=>7> >5?44=4==O 6 >>F5?L=V 
?5D5454G5=<= <>=F46=<= ?D>=><. 

$>7F4LG64==O F5??>>5<V==<>V6 ?D><V6=>7> >>=FGDG ?5D5454G5=5 6 >>F5?L=><G 74?V 
71. �> GEF4=>6>< ?5D5454G5=> 4 ??4EF<=G4F<E F5??>>5<V==<>4 7 ?>65DE=5N =47DV6G ?> 
323<2 >>65=. �>44NG<= V 76>D>F=V= FDG5>?D>6>4< F<D>G?OFV==>7> >>=FGDG 
?D>>?444NFLEO 77>6=V >>F5?L=V =4475<=> =4 6<E>><E >?>D4E. 

&5??>64 EE5<4 

&5??>64 EE5<4 ?V4>?NG5==O >>F?V6 4> VE=GNG>W E<EF5<< F5??>?>EF4G4==O 
?5D5454G5=4 G 6V4?>6V4=>EFV 4> 74644==O =4 ?D>5>FG64==O ?> =574?56=V= EE5<V 7 
6?4LFG64==O ?D><V6=>7> >>=FGDG 7 6>4>6>4O=<<< F5??>>5<V==<>4<<. � <5F>N 7<5=L5==O 
5>E??G4F4FV==<E 6<FD4F >><?>=>6>4 4>?><V6=>7> >5?44=4==O >>F?V6 ?5D5454G5=4 ?> 
5?>G=V= EE5<V. 

�5D5?V> GEF4F>G64==O F4 <4F5DV4?V6, M> ?>EF46?ONFLEO, 6>?NG4NG< >5>69O7>>6V 
74?4E=V G4EF<=<: 

1. �>F5? 747>6<= 30 ��F  3  2LF. 

2. �>6=VL=V= 5>>=><4=75D 3 2 LF. 

3. �VG<?L=<> F5??4 3 2 LF. 

4. �<<>64 FDG54 3 3 LF. 

5. &5??>>5<V==<> 3 4 LF. 
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6. �5D5656<= =4E>E &� 3 4 LF. 

7. �5D5656<= =4E>E &� (?VF=V=) 3 1 LF. 

8. &<D>G?OFV==<= =4E>E 3 3 LF. 

9. $5F<D>G?OFV==<= =4E>E 3 3 LF. 

10.  �V46<MG64?L=4 =4E>E=4 EF4=FVO 3 1LF. 

11.  �4E>E 4?O >?D5EG64==O <5D56 3 2 LF. 

12.  �G?>G?>6?N64G 3 1 LF. 

13.  %<EF5<4 EV<6>4>?V47>F>6>< 3 1 >><??5>F. 

14.  �=GFDVL=O E<EF5<4 FDG5>?D>6>4V6 V 4D<4FGD< 3 1 LF.  

 

�D><V6=V F5??>>5<V==<><, E<EF5<4 %��, F4 E<EF5<4 ?V46<6?5==O 7474?L=V 4?O 
6EL>7> ?D><V6=>7> >>=FGDG.  

$>7D4EG=>>64 F5<?5D4FGD4 6>4< 4?O ?D><V6=>7> >>=FGDG ?D<==OF4 =4 ?V4EF46V 
74644==O =4 ?D>5>FG64==O V 6 D>7D4EG=>>6><G D56<<V E>?444T 120 3 80°%. 

&5<?5D4FGD=<= 7D4DV> D>5>F< ?D><V6=>7> >>=FGDG 

&5<?5D4FGD=<= 7D4DV> 6>4<, O>4 F<D>G?NT 6 ?D><V6=><G >>=FGDV, ?>5G4>64=<= 4?O 
>4=>7> 7 FDL>E >>F?V6 <4>E<<4?L=>N ?>FG6=VEFN 30 ��F ?D< D>7D4EG=>>6><G ?5D5?44G 
F5<?5D4FGD 77V4=> 74644==O =4 ?D>5>FG64==O 120 3 80 °%. �>F5? ?D4FNT 7 ?>EFV==>N 
6<FD4F>N 6>4< 646 <3/7>4 V G5D57 5>>=><4=75D 37.5 <3/7>4<=G. �V?L>VEFL 6>4<, O>4 
F<D>G?NT 6 ?D><V6=><G >>=FGDV ?D< 7=<65==V =464=F465==O =4 >>F5? 7<5=LGTFLEO =4 
65?<G<=G D5F<D>G?OFVW 6>4< G5D57 >>F5?. $57G?N64==O F5??>6>W ?>FG6=>EFV >>F?4 
74V=E=NTFLEO L?OE>< 7<V=< F5<?5D4FGD< 6 ?>44NG><G (V O> D57G?LF4F G 76>D>F=L><G) 
FDG5>?D>6>44E FV?L>< >>F?4 (O>VE=5 D57G?N64==O). �D< ?D<==OFV= D>7D4EG=>>6V= DV7=<FV 
F5<?5D4FGD <V6 ?>44NG>N V 76>D>F=>N 6>4>N  40°% V 7=<65==V ?>FG6=>EFV >>F?4 4> 26 
��F  F5<?5D4FGD4 6>4< 6 76>D>F=L><G FDG5>?D>6>4V 7=<7<FLEO 4> 60 °%. �>44?LL5 
7=<65==O F5??>6>W ?>FG6=>EFV >>F?4 6V45G64TFLEO 7 6>?NG5=<< >>F?>6<< =4E>E><, O><= 
L?OE>< D5F<D>G?OFVW ?V4FD<<GT F5<?5D4FGDG G 76>D>F=L><G FDG5>?D>6>4V =4 DV6=V 60 °%. 
&5= D56<< 5>E??G4F4FVW >>F?4 6V45G64TFLEO 6 ?D><V6>G <V6 26.0 ��F V 5.5 ��F F5??>6>W 
?>FG6=>EFV >>F?4. $>5>F4 >>F?4 =4 ?>FG6=>EFV <5=L5 =V6 5.5 ��F =5<>6?<64 F4> O> ?D< 
FL><G =5<>6?<6> 74557?5G<F< >4=>G4E=>   F5<?5D4FGDG G 76>D>F=L><G FDG5>?D>6>4V 
>>F?4 =5 <5=L5 60 °% V F5<?5D4FGDG 6 ?>44NG><G FDG5>?D>6>4V 4>EF4F=N 4?O =47DV6G 6>4< 
6 F5??>6V= <5D56V 4> 70 °%  

 

�DG7<= 5F4? «�V>?4?<6=V >>F?<» -  6>?NG4T ?D>5>F=V D>5>F< F4 ?>EF4G4==O >5?44=4==O V 
<4F5DV4?V6, <>=F46, 6<?D>5G64==O, =4?47>46G64==O F4 66545==O 6 5>E??G4F4FVN 46>E 
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5V>?4?<6=<E >>F?V6 ?>FG6=VEFN =5 <5=L5 4 ��F >>65= 6 VE=GNGV= 7>?>6=V= >>F5?L=V ?> 
6G?. �=5D75F<>V6, 31 6 <VEFV �>DVL=V �?46=V.  

�5EO7 D>5VF 6>?NG4T:  

÷ �4V=E=5==O 6EVE =5>5EV4=<E 45<>=F46=<E D>5VF; 

÷ �4V=E=5==O 6EVE =5>5EV4=<E 5G4V65?L=<E F4  6V4=>6?N64?L=<E D>5VF; 

÷ �D>6545==O ?V47>F>6>< F4 6EF4=>6?5==O 46>E 6>4>7DV==<E 5V>?4?<6=<E >>F?V6 7 
D>74V?5==O< F<D>G?OFV==>7> >>=FGDG >>F5?L=>W F4 >>=FGDG  E<EF5<< 
F5??>?>EF4G4==O; 

÷ �EF4=>6?5==O 747>E>4V6 F4 4<<>6<E FDG5;  

÷ �EF4=>6?5==O 6EL>7> >E=>6=>7> F4 4>?><V6=>7> >5?44=4==O; 

÷ �EF4=>6?5==O 6=GFDVL=L>W F5??>6V <5D56V >>F5?L=>W, 6>?NG4NG< F5??>6G V7>?OFVN 
F4 4=F<>>D>7V==<= 74E<EF FDG5>?D>6>4V6 F4 >5?44=4==O; 

÷ �EF4=>6?5==O =4E>E=>7> >5?44=4==O, E<EF5<< 46F><4F<G=>7> >>=FD>?N, M<FV6 
46F><4F<>< F4 G?D46?V==O >>F?4<<, 74?VD=>W F4 74?VD=>-D57G?NNG>W 4D<4FGD<, 
44FG<>V6 F4 V=.; 

÷ �<>>=4==O 6 =5>5EV4=><G >59T<V D5>>=EFDG>FVW 6=GFDVL=L>7> 5?5>FD>?>EF4G4==O, 
74<V=G >455?V6 6<6?5==O, >>=FD>?N, G?D46?V==O F4 <>=VF>D<=7G, 6>?NG4NG< 
6EF4=>6?5==O 46>E =>6<E FD4=ED>D<4F>DV6 ?> 100% ?>FG6=>EFV >>65=, 
?V4>?NG5=<E 4> DV7=<E 66>4V6 4?O 5?5>FD>?>EF4G4==O >5?44=4==O 5V>?4?<6=>W 
>>F5?L=V. 

 

�59T<=>-??4=G64?L=V DVL5==O 

�VEF5 <>=F46G 5V>?4?<6=>W >>F5?L=>W, 6F.G. E>?44G ?4?<64 F4 V=L>7> >5?44=4==O 3 F5 
?D<<VM5==O >>F5?L=>7> 74?G 7 1 F4 ?D<?57?V 4V?O=><. 

 
 

&5??>64 EE5<4 

&5??>64 EE5<4 ?V4>?NG5==O >>F?V6 4> VE=GNG>W E<EF5<< F5??>?>EF4G4==O ?5D5454G5=4 G 
6V4?>6V4=>EFV 4> 74644==O =4 ?D>5>FG64==O ?> =574?56=V= EE5<V 7 6?4LFG64==O 
?D><V6=>7> >>=FGDG 7 6>4O=<<< F5??>>5<V==<>4<<.  

�5D5?V> GEF4F>G64==O F4 <4F5DV4?V6, M> ?>EF46?ONFLEO, 6>?NG4NG< >5>69O7>>6V 74?4E=V 
G4EF<=<: 

1. �64 6>4>7DV==<E 5V>?4?<6=<E >>F?<; 

2. �64 DV?LFD< ?<?G, 4> E>?44G <4NFL 6E>4<F< <G?LF<F<>?>= F4 5?5>FD>EF4F<G=<= 
(ESP) 45> DG>46=<= DV?LFD; 
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3. �5=F<?OF>D< ?5D6<==>7> V 6F>D<==>7> ?>6VFDO; 

4. �<<>E>E<; 

5. %<EF5<4 ?>44GV EF<E=5=>7> ?>6VFDO; 

6. �V4D46?VG=4 E<EF5<4; 

7. �6F><4F<G=4 E<EF5<4 ?>44GV ?4?<64; 

8. �6F><4F<7>64=<= <5E4=V7>64=<= >?5D4F<6=<= ?4?<6=<= E>?44; 

9. �>EF>6<= >D4= 45> >D4=-54?>4 7 4<EF4=FV==<< >5DG64==O<; 

10. �4?<6=<= E>?44 7 E<EF5<>N D>764=F465==O F4 ?V49W7=<<< L?OE4<<; 

11. �6F><4F<G=4 E<EF5<4 >G<M5==O >>F?4; 

12. �6F><4F<G=4 E<EF5<4 6<44?5==O ?>?5?G; 

13. �6F><4F<G=4 E<EF5<4 D>7?4?N64==O; 

14. %<EF5<4 ?>6VFD>?D>6>4V6 F4 4<<>E>4V6; 

15. �>6V 4<<>6V FDG5<; 

16. �EV =5>5EV4=V =4E>E< 7 4D<4FGD>N F4 79T4=4==O<<; 

17. &5??>>5<V==<><; 

18. �VG<?L=<>< F5??4 4?O >5?V>G F5??4, M> 6<D>5?OTFLEO 5V>?4?<6=>N >>F5?L=>N; 

19. &DG5>?D>6>4< (E<EF5<< F5??>?>EF4G4==O, ?V46<6?5==O, 4D5=46G, 464DV==>W 
E<EF5<<); 

20. %<EF5<< G?D46?V==O 5V>?4?<6=>N >>F5?L=>N; 

21. �5?44=4==O 74E<EFG F4 G?D46?V==O; 

22. %<EF5<4 ?>656>74EV==O; 

23. �?5>FD<G=5 >5?44=4==O; 

24. %E>4<, ??4FD>D<< F4 V=LV >>=EFDG>FVW =5>5EV4=V 4?O >><D>DF=>W F4 557?5G=>W 
5>E??G4F4FVW, =47?O4G, >5E?G7>6G64==O F4 GFD<<4==O 5V>?4?<6=>W >>F5?L=V. 
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�>>?>7VG=<= 5D5>F D5>>=EFDG>FVW >>F5?L=V ?>?O74T 6 74<V=V 74EF4DV?>7> 

>5?44=4==O =4 =>65 V7 7<5=L5==O< 6<>>D<EF4==O ?D<D>4=>7> 747G 74 D4EG=>> 
6?D>64465==O 6>4>7DV==>7> >>F?4 =4 5V>?4?<6V DVD<< «COMPTE-R» ?>FG6=VEFN 7,0 ��F 
=4 5V>?4?<6V. � O>>EFV >E=>6=>7> 6<4G 5V>?4?<64 ?D<==OFV ?5?5F< 7 ?GL?<==O E>=OL=<>4, 
D575D6=5 ?4?<6> 3  
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?5?5F4 7 45D56<=<. 
�7V4=> 7 ?D>5>F=<<< 44=<<< ?D< D54?V74FVW ??4=>64=>W 4VO?L=>EFV, 66545==O 6 

5>E??G4F4FVN F4 D>5>F4 6>4>7DV==>7> >>F?4 =4 5V>?4?<6V 7<5=L<FL =4 27% 6<>>D<EF4==O 
=4FGD4?L=>7> ?4?<64 ( ?D<D>4=>7> 747G) F4 7<5=L<FL 6<FD4F< 5?5>FD>5=5D7VW 74 D4EG=>> 
7<5=L5==O DVG=>W >V?L>>EFV 7>4<= 6<>>D<EF4==O F5??>6>W ?>FG6=>EFV 747>6>W >>F5?L=V 
��� «&�» <. �>DVL=V �?46=V» 

$5>>=EFDG>FVO >>F5?L=V ��� «&�» <. �>DVL=V �?46=V», ?> ?D>6G?>G �=5D75F<>V6, 
31 6 <. �>DVL=V �?46=V �>?F46EL>>W >5?4EFV, 74557?5G<FL EF45V?L=G D>5>FG >5'T>FG F5??>6>W 
5=5D75F<>< ?D>FO7>< =>D<4F<6=>7> F5D<V=G 5>E??G4F4FVW F4 75V?LL<FL =44V==VEFL =444==O 
O>VE=<E ?>E?G7 =4E5?5==N. 

&5E=VG=V E4D4>F5D<EF<>< VE=GNG>W >>F5?L=V V VE=GNG>W E<EF5<< F5??>?>EF4G4==O 
 

�>7. �4=<5=G64==O �4<=<FV �>>47=<> 

1 &5??>64 ?>FG6=VEFL >>F5?L=V 
��F 

(�>4?/7>4) 
90 

(77,4) 

2 

�4>E<<4?L=5 ?V4>?NG5=5 F5??>65 =464=F465==O 
��F 

(�>4?/7>4) 
86,91 

(74,92) 

6 F.G.: =4 >?4?5==O F4 65=F<?OFVN 
��F 

(�>4?/7>4) 
61,52 

(53,04) 

=4 74DOG5 6>4>?>EF4G4==O 
��F 

(�>4?/7>4) 
14,12 

(12,15) 

6?4E=V ?>FD55< F4 6FD4F< 6 F5??>6V= <5D56V 
��F 

(�>4?/7>4) 
11,26 
(9,73) 

3 �4?<6> - ?D<D>4=<= 747 =<3/7>4 9745,5 

4 &5<?5D4FGD=<= 7D4DV> F5??>6>W <5D56V °% 115/70 

5 �<FD4F4 <5D56=>W 6>4< <3/7>4 1665 

6 %?>6<64==O 5?5>FD>5=5D7VW >�F 536,7 

 

�D>6545==O D5>>=EFDG>FVW F4 6EF4=>6?5==O 6>4>7DV==>7> >>F?4 =4 5V>?4?<6V DVD<< 
«COMPTE-R» ?>FG6=VEFN 7 ��F <4T =<7>G ?5D5647, 4 E4<5:  

1. �=FGWF<6=5 G?D46?V==O >>F?><. 
2. �<E>><= ��� G ?>DV6=O==V 7 >>F?>< �&��-50, 7464O>< 5D5>F<6=>W 

F5??>V7>?OFVW F4 >>=EFDG>F<6=<<< >E>5?<6>EFO<<. 
3. �<7L><= DV65=L 6<><4V6 L>V4?<6<E D5G>6<= 74 D4EG=>> 74EF>EG64==O EGG4E=<E 

E<EF5< E?4?N64==O V 46>E EFG?5=56>W >G<EF>< 6V4?D4FL>64=<E 747V6 (<G?LF<F<>?>= F4 
5?5>FD>DV?LFD).  

4. %?D>M5=4 ?D>F54GD4 ?D>6545==O F5E=VG=>7> >5E?G7>6G64==O - ?D>EF>F4 >7?O4G 
O> 7 5>>G 6V4?D4FL>64=<E 747V6, F4> V 7 5>>G 6>4<. 

5. �5?5D565DL5=4 4>67>6VG=VEFL 7464O>< <VF=>EFV V =44V==>EFV >>=EFDG>FVW. 
6. �>6?<6VEFL 4>G>><??5>FG64==O 7464O>< 6<>>D<EF4==N V=F57D>64=>W <>4G?L=>W 

F5E=V><. 
7. �V4EGF=VEFL 6<E>DV6 6 4<<>74D=V= FDG5V. 
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&5E=V>>-5>>=><VG=V ?>>47=<>< 5V>?4?<6=>W >>F5?L=V 

7 
?/? 

�>>47=<>< 
�4<=<FV 
6<<VDG 

�V?L>VEFL 

1 �VEF5 D>7F4LG64==O >59T>FG 5G4V6=<FF64  
<. �>DVL=V �?46=V, 

?D>6. �=5D75F<>V6, 31 

2 �<4 5G4V6=<FF64 - D5>>=EFDG>FVO 

3 &D<64?VEFL 5G4V6=<FF64 <VEOFV6 8 

4 �474?L=4 ??>M4 75<5?L=>W 4V?O=>< 74 3,0412 

5 

�?>M4 745G4>6<  
6 F.G. VE=GNG<E 5G4V65?L F4 E?>DG4: 
          ?D>5>F>64=<E 5G4V65?L: 

- �>F5?L=<= 74? 71 ?VE?O D5>>=EFDG>FVW 
- %>?44 ?4?<64 
- �D>5>F=V E?>DG4< 

<2 - 
- 

1256,75 
848,4 
290,4 

117,95 

6 
�G4V65?L=<= >59T<  

- >>F5?L=>W 74?< 71?VE?O D5>>=EFDG>FVW 
- E>?44G ?4?<64 

<3  
7378,3 
3312,3 

7 
�EF4=>6?5=4 F5??>64 ?>FG6=VEFL 6>4>7DV==>7> 
>>F?4 =4 5V>?4?<6V 

��F 
(�>4?/7>4) 

7,0 
(6,02) 

8 
$>7D4EG=>>64 5?5>FD<G=4 ?>FG6=VEFL 
5V>?4?<6=>W >>F5?L=V 

>�F 170 

9 
$VG=<= 6<D>5VF>> F5??4  ��6 

(�>4?/DV>) 
186304,7 
(44 496) 

10 
$VG=4 >V?L>VEFL 7>4<= 6<>>D<EF4==O F5??>6>W 
?>FG6=>EFV 

7>4 
7416 

11 
$>7D4EG=>>64 6<FD4F4 5V>?4?<64 5V>?4?<6=>W 
>>F5?L=V: 

 
 

 
- �E=>6=<= 6<4: ?5?5F4 7 ?GL?<==O E>=OL=<>4  

�=
D

= 4244 >>4?/>7 
>7/7>4 1576 

 
- 4?LF5D=4F<6=4 ?5?5F4 7 45D56<=< 

�=
D

= 4159 >>4?/>7 
>7/7>4 1608 

12 

$VG=4 6<FD4F4 F65D4>7> 5V>?4?<64: 
- �E=>6=<= 6<4: ?5?5F4 7 ?GL?<==O 

E>=OL=<>4 
- �?LF5D=4F<6=4- ?5?5F4 7 45D56<=< 

 
F/DV> 

 
11 687,6 

 
11 925 

13 $VG=4 6<FD4F4 5?5>FD>5=5D7VW F<E. >�F 1260,7 

5.  �<E=>6>> M>4> =5>5EV4=>EFV 6=5E5==O 7<V= 4> V=65EF<FV==>W ?D>7D4<< 
��� «&�» <. �>DVL=V �?46=V =4 2020-2027D.D. 

�=65EF<FV==4 ?D>7D4<4 D>7D>5?5=4 6V4?>6V4=> 4> �>DO4>G D>7D>5?5==O, 
?>7>465==O F4 74F65D465==O V=65EF<FV==<E ?D>7D4< EG59T>FV6 7>E?>44DN64==O G ED5DV 
F5=FD4?V7>64=>7> 6>4>?>EF4G4==O F4 6>4>6V46545==O, ?VF5=7G64==O 4VO?L=>EFV O><E 
74V=E=NNFL $444 <V=VEFDV6 �6F>=><=>W $5E?G5?V>< �D<<, >5?4E=V, �<W6EL>4 F4 
%564EF>?>?LEL>4 <VEL>V 45D646=V 44<V=VEFD4FVW 74F65D465=>7> �4>47>< �V=VEF5DEF64 
D>76<F>G 7D><44 F4 F5D<F>DV= '>D4W=<   6V4 19.08.2020D.  7 191 7 4>FD<<4==O< 
«�>DO4>G  D>D<G64==O F4D<DV6 =4 F5??>6G 5=5D7VN, WW 6<D>5=<FF6>, FD4=E?>DFG64==O F4 
?>EF4G4==O, ?>E?G7< 7 ?>EF4G4==O F5??>6>W 5=5D7VW V ?>EF4G4==O 74DOG>W 6>4<» 
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74F65D465=>7> �>EF4=>6>N ��' 6V4 01.06.2011D. 7869  «�D> 74557?5G5==O T4<=>7> 
?V4E>4G 4> D>D<G64==O F4D<DV6 =4 6<F?>6>->><G=4?L=V ?>E?G7<». 

�?D>64465==O V=65EF<FV==>W ?D>7D4<< >5G<>6?5=> =4EFG?=<<< D4>F>D4<<: 

÷ �5?<><= EFG?V=L 7=>L5=>EFV 6<D>5=<G<E D>=4V6; 

÷ �D>EF4==O >?5D4FV==<E 6<44F>V6 G5D57 ?V46<M5==O 64DF>EFV ?4?<64; 

÷ �D>EF4==O >?5D4FV==<E 6<44F>V6 G5D57 ?V46<M5==O 64DF>EFV 5=5D7>=>EVW6 F4 
D>EFG 74D>5VF=>W ??4F< 

&4><< G<=>< 6 E>4V D>7D>5>< V=65EF<FV==>W ?D>7D4<< 5G?> 6<7=4G5=> =4EFG?=V FV?V: 

÷ �>45D=V74FVO F4 >=>6?5==O 6<D>5=<G<E D>=4V6 ?V4?D<T<EF64; 

÷ �V46<M5==O 5=5D7>5D5>F<6=>EFV F4 7<5=L5==O E?>6<64==O ?4?<64; 

÷ �=<65==O =574F<6=>7> 6??<6G =4 =46>>?<L=T E5D54>6<M5 . 
�5D5?VG5=V FV?V <>6GFL 5GF< 4>EO7=GFV 6 D57G?LF4FV =4?D46?5==O V=65EF<FV==<E 

>>LFV6 =4 D54?V74FVN 6<M5747=4G5=>W ?D>7D4<<. 
$54?V74FVO ?D>5>FG ?>69O74=4 7 74D<>=V==<< 5>>=><VG=<< D>76<F>>< <VEF4 F4 

6V4?>6V44T ??4=G EFD4F57VG=>7> D>76<F>G V E?DO<>64=4 =4 ?V46<M5==O 
>>=>GD5=F>E?D><>6=>EFV D57V>=G. �D>5>F >DV< >E=>6=<E FV?5= 6<7=4G5=<E 6<M5 
E?D<OF<<5 ?V46<M5==N V=65EF<FV==>W ?D<645?<6>EFV >E>??5=>W =<< F5D<F>DVW F4 <4F<<5 
6??<6 =4 4>EO7=5==O EFD4F57VW <VEF4. 

�4=<= V=65EF<FV==<= ?D>5>F <4F<<5 =5 FV?L>< 5>>=><VG=<=, 4 V 5>>?>7VG=<= F4 
EGE?V?L=<= 5D5>F. 

 
 

6.  �=4?V7 6??<6G D54?V74FVW V=65EF<FV==>W ?D>7D4<< =4 EFDG>FGDG 
F4D<DV6 

%>?44>64 �4<=<FO 
6<<VDG 

�EL>7> F5??. 
5=5D7VO 

�4E5?5==O �N465F �=LV 
E?>6<64GV 

�>D<E=<= 
6V4?GE> 

�>4?. 119 934 103 703 9 392 6 839 

�EL>7> 6<FD4F �D=. 245 800 196 460 28 560 9 778 

&4D<D 557 
V=F5EF. E>?44 

�D=./�>4? 2 049,46 1 894,45 3 041,08 3 038,11 

$>7?>4V? 
V=F5EF. E>?44. 
?D<5GF>G 

�D=./�>4? 430,24 149,02 2 135,46 2 352,75 

$5=F455?L=VEFL 
6 F4D<D4E 

% 16,4 10,3 40,0 40,8 

&4D<D 7 6D4E. 
V=65EF E>?44. 

�D=./�>4? 2993,35 2553,80 5801,65  5801,76 

�D>EF4==O  %  30,9 22,1 22,1 
 
 
 

�<D5>F>D ��� «&�» <. �>DVL=V �?46=V»   (?V4?<E4=>)    �46?> %����� 
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